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Note : Attempt all questions :

1. Transcribe any eight words out of the given twelve :
people, wood, famous, able, shadow, situation, field, destiny,
prophet, human, become, cycle.

' 2. Answer any four questions in about 30 words each :

(a)

(b)
(c)

(d)

(e)

(H

What do scriptures say about the origin of the universe?
("Choosing Our Universe")

Explain the title of the chapter "The Generation Gap".
How do symbols like 'Ganga' influence people?
("Language and National Identity’').

How can we realise the pain and sufferings of the
mute? ("Wounded Plants").

Gandhiji decided to take lessons in various fields to
make himself a perfect English gentleman. What were
these fields? ("Playing the English Gentleman"),
How can one achieve excellence in life? ("Great Books
Born Out of Great Minds"). (4x2=8)
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3. Answer any five questions in about 100 words each :

(a) Explain the term 'Secularism'. Why is it necessary?
("The Responsibility of Young Men").

(b) Trace the stages through which a young person passes
as he/she matures into an individual. ("The Generation
Gap")

(c) What role does language play in the national awakening
of India? ("Language and National Identity")

(d) Who according to Nehru is Bharat Mata? ("Bharat
Mata™)

(e) What is the importance of fostering a good work
culture? ("The Responsibility of Young Men")

(f) Discuss the relevance of the title "Choosing Our
Universe".

(g) What are the dangers associated with the construction
of big dams? ("Are Dams the Temples of Modern

India")
(h) What is 'paralysis of sensibility'? How is it measured?
("Wounded Plants") (5x4=20)

4. Read the following passage and answer the questions that

follow :

There are three principal elements that go to make up the
identity an individual finally achieves. First and foremost is
the character he was developing all through childhood. A
boy, beginning at about the age of three, has been striving
to be a man just like his father and the little girl to be like
her mother. So they have had to cast themselves in the
moulds of their parents—they are made of their parents.
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Questions :

(2)
(b)

(c)
(d)

5. (a)

(b)

(c)

(@

6. (a)

Name the lesson from which the passage has been
taken?

What is the first element that makes up the identity an
individual achieves?

How do little children imitate their parents?

Make a sentence of "Mould'. (4x1=4)

Write antonyms of the following (any nwo) :

(i)  Superior.

(ii) Rare.

(iii) Gain.

Write synonyms of the following (any rwo) :

(i) Begin.

(ii) Deadly.

(iii) Evolve.

Give one word substitute for the following (any rwo):

(1)  Any long-established belief or custom,

(if) Government by nobles.

(iii) Not completely dry.

Make sentences of the following words (any two) :
(i) Decide (ii) Guide (iii) Knowledge. (8)

Fill up the blanks with suitable forms of verb given in
the bracket (any fwelve) :

E The earth ..................Round the sun. (move)
() T o — strange noise. (hear)

(iii) An honest person always................... the truth.
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(iv) He................... here for the last five years. (work)

(v) The workmen ...................the road near our
house. (repair)

(vi) There are some birds that ................... every year.
(migrate)

(vii) The town ................... itS appearance completely
since 1990. (change)

(viii) The sound of their conversation .................
the baby. (waken)

() Weisnoa. to the theatre last evening. (go)

(x) The accident................... at 10 : 30 this morning,
(occur)

(xi) It .....coevsmmnn. since ten o'clock. (rain)

G Tl TR upon the sitar when I went to
see her. (play)

(xiii) Hurry up, we ... late, (get)

(xiv) We shall go for a walk when it .........coenu..
raining. (stop)

(xv) The train ................... before we reach the station.
(arrive) (1x12=12)

(b) Do as directed (any twelve) :
(i) Form nouns from the following verbs :
1. know 2. die 3. Choose.
(i) Fill up with suitable conjunctions :

1. I ran fast ................... missed the bus.

2. Gulshan remained at home...................his
father was ill.

3. Renu was annoyed, ...................she kept her
cool.
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(i) Convert the following nouns into adjectives :
1. activity 2. book 3. intellect.
(iv) Fill up the blanks with suitable prepositions :

1. I prefer juice........cuaii tea.
2. Parul is jealous ................... me.
3. The train arrives .........cceees seven o'clock.

(v) Fill up with reflexive pronouns :
1. I cannot bring ...........c...... to do this.
2. Rama has hurt ...................
3. Do your homework ..........cc.oceune (1x12=12)

7. Write a paragraph of about 200 words on any one of the
following :
(a) Air Pollution.
(b) Value of Sports.
(c) Knowledge is Power.
(d) Impact of Social Media on Youth. (8)
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(F) vedfis T F AfgE w9 22

(3) fm-=fm-Tm = 9@ fawg = &2
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(9) o= 999 3 FF O fead 51 €2
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3.

4.

qOEEE AY9a wEE § ¥ R e wfy = afefas
uf=g i) 8

frefafas & 9 5= w8 9w & s w9 150 o=

H e

(F) FEEE St H WETEE Ha W THm EfE

(@) gadRE 1 q9fFugET w1 fEEes w51

(m faEl ¥ 4R F9F W wEW S

(9) @R # F= =4 W yFw e

(%) Hi=rE F1 U9 G § wEE ANAT F1 9REd S

(F) 9EE & a9ed IvH W faER == F:i

(4%4=16)

frefafes 9 4 &l &F w1 & SWw difem:

(%) AT & THS B GHE W A9 fHER =
Exdl

(@) feFr et aftm =+ w@ wWva | wW
il

(M &= oftw % sfew o@t 1 WU W T
Bl

(%) 'TE’ F= WU Fw YA W oy, fAfam
F FT q0H FH) (8x2=16)
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5. Prafafes § & & 2 vt & S 4fvg

6.

7.

(%) et wiew #1 wiepfew Rk w oy
el
(@) enfemmes #R) F=A F -t | owwE efan)

(m) faz =ifse o aafewes =1 & TG F1 9w
2l

(9) T9 9HEME F SiEw 9=y St (5%2=10)

frfaftas ® ¥ &= Ot woaf & I difsw:
(F) ®F & 7@ T &1 AeEw @ s
(@) 71 W &I 99w ud eI e

(M) e = iR SRR wEd §2 EEw ufen o=
i)

g%aanﬂﬂmﬂmmﬁ%%,ﬁﬂ
= =1 (5%2=10)

freafafen =i 3 & s {ife .

(%) Fdr = anit =1 feRm fFgd s 22

(@) ‘Ffaaaet’ § ®a fFad w05 2

(1) WEF F TE H AW TR

() TEi-z-didt ® 3w Uy w AW w22
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1. FE 9 fRw 3 oo aa<s &9 fan fea o<
T fies M3 Afosa @ g9 dEadt fel (5

2. J5 feu afe-2fentt feg' faR @ & yAar mfoz
fenrfunr a3 :

(8) us® famr vaow ¥ 3=,
as 4 famr fefsom yga,
g8 Ut 3 g0 fauz,
Ugd Ud I,

e fdus 79 faum

(i) 2 2femit 2 fem & 24,
fea Hfow® w fea ga @
2 ufanrt feg usas <4,
feg Bat v fea Aat @)
(8) €9 fem =fonr 3 um,
H3 foor 9 ¥ '§ Gt IWeES|
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a.

5

g% 541 A A9 & fezd 398,
T 5d1 OH-319, HIueT aHa|
feq ot @ Sagt @ W3,
&t wfgnr @ A & wmR 3
() vt 3t gfger @ fifme flss,
Hg 3 3= Ha & fHeg,
faght = g9 @3& 99,
gste 3t @512 faust 99,
THE JET wiy €378,
37 & fiFs,
Hg & fdedl (5+5=10)

aaa fAw € dles w3 Afoxz 8= 99 €81 (5)

d& v Ifdzg fesss adi
at
‘ufezg Uit s &t mfosa Uz9s &1 (10)

g Igarzy, mmmm@wwﬂd%_d%ﬁwﬁm
fot fam feg wmu@ fils 3 Afos 3% 88 Ao @
B-arfeedt €8 funrs fea@eht dfent fer feu
AU dd6 ©f a3 &9l

At

303 fewa few =u gdt It w3 god o
ToEst § JaE vEl a2 € w2 fev fouse =ow
95 sl faa-uze fed) (10)
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. It feg yorefoni feg' fan wRt € »EE AUEE

agfent Tt feg <93

udt Ot w3, niyt feg &g B39w, vist-3dt &
H9 &8, wiet usdl 98 Hee, s o &t aa &
n@E, AR &t aEw 3 ueew, fre €3 & ust
Bws, A9 & He o, oot faB BrFes, 98
sfenit Rer d&, 995 d A, fda S, I8 U3
aaol (10)

. 3o fed meet g HU @92 oy

MG, GHES, UdT| (10)

. J& fed meet feg' ent @ dash gu feu

Assessment, Attested Copy, Basic Pay, Catalogue, Circular,
Compliance, Confidential, Damage, Departmental Action,
Annual, Document, Evaluation, Enclosure, Employee, Based
on Facts. (10)

. Jdo fey gofeamit yrst fed ola feamy w2

@) fdom afesr feg 1t gt 3 fame ySia ot
Uy o=t famr 97

(8) 2gwit 8
() fdag 2

() #Haft 2
(R) faggste @
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() Az afesr fam g & g9 37
8) st g fifw
() 4. Has fRw
(8) T93ws fAw aHs
(A) uat IH If3x
(i) AHHSE WBE 5% o Jer 37
(8) nRE-v9 T w3
(#) FoHTEESt & w3
(£) AHIH &t A3
(A) AHHSRE & H3
(v) 3. Ifgsws fAw far 3§ & &= 37
(8) moned () gHF=TE
(8) AHHSE (R) -Efenrert
(v) fodt @ Sy-2y Ja fam o® & yIia 37
(8) #3-u3 (vf) TIH
(®) ng-adte  (A) myT & fefdazr
(vi) YAt a=s T fusnr fam & Afenr A
a7
(®) st i fw  (v) 3Et How fAw 2T
(g) B oax fAw (1) defers fAy
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(i) ¥&" &% 8 ufges &t Aofesr 3= a9er 37
(®) »=9 fRy (o) S=
(8) AY HY (R) faeml

(viii) UBT &8 m3H-dfamr @ fegw & we fag
faafer Hi?
(®) Sgmardt x9& (#f) wdIB Jaft a9
(8) W<t d9s  (H) Fo9d doa

(x) ufesg unft aes 8 U39 far B &5 AEU
Jue T5?

(®) €% =gar (nf) Jow HE
(8) monfeew (R) Ha g&
x) ‘ufésg it mes € afea dF J7
(8) Hfenr ?.c S
() ©& (A) = (10)

707/2750/KD/528 5



ROIIMNG:, o st o Total Pages : 3

GSE/D-22 709
Hepd ()
Time : Three Hours] [Maximum Marks : 80

ez : .ﬂ&ﬂﬂﬂ._m_m._ﬂ.w_

1. | W % T ¥

(i) YfagE & TS W F AW 917

(i) feardw o frmm o=y &2

(ii) Hfees ® SFER g@l w1 arqEe fRY 9 T #2

(iv) faen feq wye feas o w22

(v) 97 Wifoafzs =1 =gl wwe=q =1 w9 fafan)

(vi) T urg w1 fafufaem, so9 oW, TwEwA w1 w9
fafaT) i

_n.f.m.mu .mhﬂ.—u = e ? HWKNH_.E“.

2. () () CPefafas =t = w5t .
Heeqedl 991 gfte: gy |ieE 39
R €90 IF e 9vEgaRAll
e
T A9l [OUE waedl qfatassa
e o=0 W W snee el
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(i) =T FATE-F] T I WNE AR o 5gh
FRTH| SAFIEITION ST T Ta: Fv, Sy
T ATSSIHA AR ' FrTaEifs =g war 3l

e
Him APt TR YEd e TRelge:) o5
Fiet g TeeEEE SETE A s e
ATFIAN TG TRgEAE: i @ e

frfeaggy™ =l (2x5=10)
(@) FIS-HHTS F1 FYT ATET TI- F91 F WX
a7 v o fafay (1x%6=6)

3. (%)= o va= # e w1

() e ARy S AR e A,
TR iR weE gvee e
HdYeETETe fafatd=yEnts)
wEEm A et g )

(i) FHE G TS Taa SafatEee)

q A T A qEE 7 g nfedE)

(i) ST @fguft s,

Tl 0 Fregifa Teem
e yahdomdfae,
orE i EeEsEE| (2x5=10)
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(@) TyET = HWo:
TG : FYE F A w0 gam)
e
i GRSk (1x6=6)

4. (F) & wfaufawi & gufifie w9 fafen .

wra-ageft, Jedt; fug-wged, ded;

TH-Ta, weHt: sreg-fdtan, =g (2x4=8)
(@) &= 9t uge & gufade =g fafge .

- IR, T, - (2x4=8)

5. (F) () 9x ¥ oy =X :

G+ AMEH; W9 + Wb T+ ;994 e

f&m + aea:; it + (4x1=4)
(i) = ¥ fas@y =i
Feafam; e, ger=sm; arorew; gufy; Jewe;)

(4x1=4)
(@) W-93 § 7 &A1Y g¢ $E S S e fod|
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7.

How far is it comrect to regard the Gupta Period as the
'Golden Age' of ancient Indian History? (16)

TSRS Hi F6= GRS 3Ere & Euign’ e SE 9w
3w #2

UNIT-1V (3&TE-1V)
On the Outline map of India, show the important sites of
Harappan Civilization. Also write an explanatory note.
(10, 6)
I & {@ihd AAMET W B9 99 % UgE 9 S

TN U A feoeft ot fafam

On the outline map of India, show the extent of Samudra
Gupta's Empire. Also write an explanatory note. (10, 6)
I % (@i AEEE W 99EW ® SEeg-aER H

z9iEe| U A s feooft oft fafay

710/12250/KD/198 6

ﬁ..d. :

710/12250/KD/198/Outline Map of India

Time : Three Hours]

No. 220052437 Total Pages : 6
GSE/D-22 710
ANCIENT INDIA
(From Earliest Time to Gupta Age)
Opt. ()

[Maximum Marks : 80

Note : Attempt five questions in all. Question No 1 is compulsory.

Select one question from each unit. All questions carry
equal marks. The part relating to explanatory note on
map will carry full marks for visually handicapped
candidate only.

Fa e ¥ @ IW A 9w gem 1 e R
TS TR | UH Y9 F1 999 St g9 v % S
TE ¥ F9a e faufdal ® fou wmtas |a
feooft amt am & Q@ HF wT

Compulsory Question
(tfmE wve)

Choose the correct answer from the given options. Each
question carries 2 marks.

2 ™ fawed § 9 9 s 9w TS W 2 I
ol {
(i) Who wrote 'Arthashastra'?

(a) Kalhan

(b) Harsha

(c) Bann

(d) Kautilya.

[P.T.O.



(ii)

(iii)

‘sefwreE’ #1 = R S

(F) F0 F

(@ 3

(M 9 F

(%) #ifeem A

Author of the Book 'Mudrarakshas' is
(a) Hem Chandra

(b) Varaha Mihir

(c) Rajshekhar

(d) Vishakha Dutt.

T qEEE % ofEd €

(%) THa=

(@) =% fEfE

(M) TEEER

(%) favmesm

The People of Harappa Civilization were not familiar
to which animal? .

(a) Cow

(b) Bull

(¢) Horse

(d) Monkey.

wew Wewfa & @m fRw oy ¥ offem o @2
(=) ™

(@) dis

() e

(W) 9=

710/12250/KD/198 2

(iv)

(v)

(vi)

710/12250/KD/198 3

How many Shlokas are there in Ramayana?
(a) 20000

(b) 100000

(c) 30000

(d) 24000.

T ¥ vEw R 22

(%) 20000

(@) 100000

(1) 30000

(") 24000.

First Teerthankara of Jainism was
(a) Matl

(b) Mahavira.-

{(c) Rishabh Dev

(d) Rahul. .
SH OWE % W9W ddex o
(=) wifas

(@) 7o

(T) TEY 'S

(%) TEE|

Kanishka's capital was
(a) Purushapura

(b) Taxila

(c) Shakal

(d) Patliputra.

[P.T.O.



(vii)

(viii)

FAeR F1 TAUE o
(%) TR
(&) ety
(M) IEE

(%) SR

Who was the founder of Satavahana dynasty?
(a) Hala

(b) Simuka

{c) Krishna

(d) Satkarni-I.

TME®A 99 H WEgE w9

(=) ¥

(@) foq%

(1) FEU

(9) i1,

Capital of the Maurya empire was

(a) Rajagriha

(b) Swarnigiri

(c) Ujjain

(d) Patliputra. (8x2=16)
A4 T wogewEr o

(%) T=E

(@) w=oifmi

(m =

(%) gl
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UNIT-1 (F&TE-1)
Give a brief account of literary and archaeological sources
of Ancient Indian History. (8,8)

yee O shem ® OffEs e [Wates @ s
g fEE=m Fiew

What do you mean by the concept of Neolithic Age? Describe
the main features of this Age. (16)

5 WG FHE F AR W A9 T A €2 W T
#1 g favmme @1 avi =l

UNIT-1I (3&TE-10)
Give an account of Political, Social and Religious life of the
Rigvedic Aryans. (16)
Frafes SEl & TS, SefaE au uiffE S @

faaro ifsm) -

Describe the life and techniques of Gautam Buddha. (16)
w95 S iR foens w1 9o i

UNIT-III (Seht8-I11)
What do you understand by Ashoka's 'Dhamma'? Also
describe the means of propagation of Dhamma. (16)

HYE ® Y’ | AN T 9HEd €7 IE% YER % 9
T o I FL
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wEtes IaEd ® A A e gwa 87
(%) SUFEHEA!

(@) 83

(1) 9Fa % H&I =AM

(9) ST § § =g T
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[Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal

3.

marks.

: FE ger W w1 9t v $ ow wEe

Discuss the main features of the Preamble to the Indian
Constitution.

AEE WEME #1 wEEW S ged faewme w1 quE
it

Critically discuss the Fundamental Rights as given in the
Indian Constitution.

urRHE HEaaE d 7R T Aifes afien e s
FUH  Hil

Explain the appointment, Powers and Position of the Prime
Minister of India.

URd B THE WA = g, wiwE o feaf w5 v =1
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4. Describe the appointment, Powers and Position of the Objective Type Questions
Govemor of a State in India. (RS W)

. 9. (i) Who said, "Indian Constitution is a Lawyer's Paradise"?
o § UF T % T F frrafer, wifra of Refr a1 (a) Ivor Jennings

oA i (b) Dr. B.R. Ambedkar
(c) K.T. Shah
. i oy et it (d) K.M. Munshi.
. W_H_Em the Election and Powers of the Speaker of Lo It RN F gt w5 fFd T
dDind. ﬁﬂwu mm s #
SO ey & g R uiwE w7 oA it (@) & dam sraEe 3
(M 3. e
6. Explain the main Provisions of the 73rd Amendment of the (9) .09 gqufi|
Indian Constitution. (i) How many Union Territories are there in India?
T W % 739 WaafE weive & ge yEee 5 @ 7
(b) 8
faa=m w1 © 9
(d) 10.
7. Discuss the composition and Jurisdiction of the High Court I A § &6 w5 g e 22
of a State in India. (F) 7
A% H U 59 & 399 A H GG 9 SFNER F5 (@) 8
U it S
(=) 10.
(iii) Among the following who is the Deputy Chairman of
8. Crtically discuss the Powers of Judicial Review of Indian Rajya Sabha at Present?
Supreme Court. (a) Najma Heptulla
Rashid Alvi
IR Waled @eE % 9% [Eawe §1 iR &6 ®)
(c) Harivansh Naryan Singh
AEArEAHS a0 H (d) Meera Kumar.

712/14350/KD/197 2 712/14350/KD/197 3 [P.T.O.



(1v)

(v)

fr 4 9 adum g § TS 9 @ IuEEni
T #7

() 7 Bugen

(@) @i st

(m) wfEw e foe

(%) 90 HARI

Who Preside over the Joint Session of the Parliament?
(a) Prime Minister

(b) President

(c) Vice-President

(d) Lok Sabha Speaker.

ToE % HEE IfETA W SeEE R Ha 82
(%) =t

(&) gt

() 39 T

(%) & 991 e

Who is the Governor of Haryana at Present?

(a) S.D. Narayan

(b) Kaptan Singh Solanki
(c) Jagannath Pahadia

(d) Bandaru Dattatreya.

FdaH g ¥ wRE W T B 82
(F) T2 [ET

(@) wam for aemst

() ST e

(%) qUE® TEEA|

712/14350/KD/197 4

(vi) Central Council of Ministers is responsible towards
(a) President
(b)  Prime Minister
(c) Home Minister
(d) Lok Sabha.
F2 wiuRez fre o fRa @ iy sweEd

(%) TgHf
(@) wYEEH

(m TR
(%) wrwE
(vii) Who is the Chief Justice of India at Present?
(a) Deepak Mishra
(b) Ranjan Gogoi
(c) N.V. Ramana
(d) Sharad Arvind Bobde.
Ra % FOAA ged = e @ s €
(%) 9w s
(@) T
(m T A
() WE IEX A=
(viii) Who can remove the Judge of Supreme Court?
(a) Prime Minister
(b) Parliament
(c) Chief Justice of India
(d) None of the above.

71214350/KD/197 5 [P.T.O.
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MICRO ECONOMICS-I
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Note : Attempt five questions in all. Question No. one and two
are compulsory. Attempt the remaining three questions
selecting one question from any three of the four units.

e wE e W B IW A W Ten R R
sfad # 9R TEEd W ¥ R 99 e 4 9
TF YEF F 999 S0 gL 99 dF W & S Ao

1. Compulsory Question ( 3if@md we)

An apple producer is ready to supply 100 kilograms of

apple at Rs. 40/- per kilogram. He is willing to supply

200 kilograms apple at Rs. 50/- per kg. and 300 kg at

Rs.60/- per kg. He is not ready to supply any quantity if the

price is Rs. 30/kg or below.

Answer the following questions:

(@) Which law of economics determines apple producer's
behaviour? Explain the law.

(b) Draw a supply schedule and estimate elasticity when
price changes from Rs. 40 to 50 per kg.

714/4350/KD/446/Trans. [P.T.O.



(c) Explain increase in supply. What are its causes?
(d) Distinguish between contraction of supply and decrease
in supply. (4x4=16)

TF ¥9 IORE 40 A o fEeEmm # oW ¥ 100

foreinm ¥= ! g W ® fau dar 1 aw 50 @

wfa f&m. #i W ¥ 200 e sl 60 =93 wfa fEm

® W 300 AL 9 4= W TS ?) =% 30 W

o fFm o 398 w9 | fedt @t wmn = T w3

% fom daR W 2R

frfafan vt =1 s <ifsw

(F) ¥9 IORF F TEER ® JGNRE F1 wEE W
fife s 22 fram =t = w1

(@) T amgfd ergeet = SR @ w1 SgEe e
W9 HAd 40 9 50 T Wfa feen wfafa & s
2

(m amyfd § gfz #1 =ren w0 /S T FEO E?

(%) g B HEE o omfd ¥ W @ dw sw
Fife)

{A) Choose the comect one:
(i) The term economics is derived from ......... . language.
(a) French
(b) Latin
(c) Greek
(d) None of these

714/4350/KD/448 2

(ii) Price is determined by:
(a) Forces of demand
(b) Forces of supply
(c) Both (a) and (b)
(d) None of these
(iii) In case of substitutes, the cross elasticity of demand is:
(a) Positive
(b) Negative
(c) Equal to one
(d) Zero
(iv) Due to decrease in price of a commeodity, consumer's
surplus:
(a) Increases
(b) Decreases
(c) Remains the same
(d) None of these
(v) When MR is zero then:
(a) TR is maximum
(b) TR is zero
(c) TR is minimum
(d) TR is equal to MR (1x5=5)
(w) @& =H:

714/4350/KD/446 3 [P.T.O.



() W=
(MTH § = T
(i) g fifm fem wmn 2
(F)FM F TF TW
(@) i ® =@ FW
(M = (F) @R (F)
(M) d & w T
(iii) TS ® WA A, WM H WG e 8
(F) TFREH
(@) THEH
(M T F WK
(%) ¥
(iv) fFdt =g #t ®m@ d F9 % FRO, I9ERE F
#Afe:
(%) 7
(@)=
(M) T§ wa #
(7)) 79 ¥ = €
(v) ¥@ THSR (MR) Y= & &
(®)ASR (TR) AfFaq o 2
(@AW = T #
(M) AW R w2
(9) VIR THAR F TR o #

714/4350/KD/446 4

(B) Match the following :
1. Income Consumption Curve % a. MR < AR

2. Pen and Ink L1 b. Decrease in
Consumer's surplus

3. Declining AR ¢ ¢. Economic limits of
production

4. Increase in Tax | d. Engel's curve

5. Ridge Lines 2 e. Complimentary

goods (1x5=5)
(@) Fefafaa =1 foam Fi:
1. @ I99m FF  (F) MR<AR
2. Hod IR W@ (W) IHEm & s o

Fl
3. Tt & AR (M) IAEA B A HEY
4. w H gfE (9) dWew & T
5. f= @ (3) TUEAE &Y

(C) Define the Following :

(i) Income Elasticity of Demand.

(i) Socialist Economy.

(iii) Consumer's suplus. (3x2=6)
(m frafefes = itafm w1

(i) =T FH AW G

(i) THEEE STfEEe|

(iii) SUHE w1 e

714/4350/KD/446 5 [P.T.O.



UNIT-I ($%TE-1)

Scarcity and problem of choice are the basis of all economic
problems. Discuss. 16

FH IR fowey o wwen Wt snfdw wmemei &
FuR ¥ fade #ifm

Explain the Law of Demand. Why does the demand curve
slope downwards? Are there any exceptions to it? 16

am % fem = =men W 9m T o e e
F AR T B T TR wE AR 2

UNIT-II (¥&TE-10)

What do you understand by the term Consumer's
Equilibrium? Explain the Consumer's Equilibrium with the

help of Indifference Curve Technique. 16
YT ® WgEW Ve § AN W 9uwd €7 IR
TH TEAG HI GEEW ¥ IYURE F Gqed H =mE
ity

Explain the Law of Equi-Marginal Utility. Give its importance
and limitations. 16

TH-dHa SwEf % fEm w1 =em sk mw
e UE s w1 Iee@ St

714/4350/KD/446 6

UNIT-III (¥&E-110)
Explain the Law of Variable Proportions. Why are the causes
of application of this law? 16

it Squa & fEm # =ew wiee W e $
A F wRM = OE2

Write notes on the following:

(i} Diseconomies of Scale.

(ii) Properties of Iso-quant. (2x8=16)
frefafes w feopft fafag -

() Ym = et

(i) TEERE ® T

UNIT-1V (§&T$-1V)
In the traditional theory of Cost why is the long run average
cost (LAC) curve also called envelope curve and why it is
U-shaped? 16
o # e fogin F ddEein st @ (LAC)
T% % foere =% ff F= Fe s # ok 9% g-aen
w1 = g 27

. Explain the concept of Break-Even in profit planning. 16

Y I H WY-FY # SENRT H SrE i

714/4350/KD/446 Ff
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GSE/D-22 719
HEALTH AND PHYSICAL EDUCATION

Time : Three Hours] [Maximum Marks : 60

Note : Attempt five questions in all, selecting one question

T

from each Unit-I, II, III and IV. Unit V is compulsory.
T&F T LIL I & IV | U& W99 &1 999 5@ T,

HA Ui W & IW A0 TEE-V sfEd #
UNIT-1 (3T-1)

Discuss the relationship of Physical education with recreation.

Wi e & mHRsE @ dE9u w == wiew

Describe the leadership and qualities of a good leader in
detail. -
T ¥ B A &R T = famw @ v #if

UNIT-II ($&TE-11)
What do you mean by Health? Discuss the importance of
health.

W ¥ AU T ONE ©7 W Hed W =9l #i

Describe the role of Media in imparting instructions of health
education.

wreg foan & few yam w6 | @ifsa 51 i w1 5o
£l

719/4610/KD/792 [P.T.O.



UNIT-III (S&m$-111)

. Discuss history of development of Physical in India before

and after independence.
I 4 T 3R A ¥ wwa § o fem = shem

Ht == FHIaQ)

. What is Yoga and its types? Describe the concept of yoga

in brief.
TR IR T WHR T 27 A F STENRT F1 98y § av
Fifer)

UNIT-1V (3&HE-1IV)

. What is Muscle? Write the types and functions of muscles.

et @ 2 IR B wER @ w1 fafaw

. Elaborate the effect of exercise on skeletal and muscular

system.

FHE SR I TN W =HEH wuﬁm&@ﬁﬂ@
AT

UNIT-V (F&TE-V)
Compulsory Question
(AfEd wve)

. (a) Define Physical education.

YR e 1 9Rafym sifsg)
(b) Enlist rwo functions of bones.

TS B T FE F gEEE Fi

719/4610/KD/792 2

(c)

(d)

(e)

(f)

(g)

(h)

(1)

@)

‘What is Personal hygiene?

=T Ewea 7 87

What do you mean by Pranayama?
WIEE ¥ A9 e €2

What are carpels?

e = &2

What is a Joint?

™ wIw 82

Enlist four yoga asans.

R A S B gEES wil
Write the types of muscles.

I % R fafaw

Enlist the function of &mnmm.ﬂn system.
A T FE A g w5
Write two factors affecting Personal hygiene. K

ST E=2dl H] UHEd 3 96 9 SR fanau

719/4610/KD/792 3
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GSE/D-22 719-R

HEALTH AND PHYSICAL EDUCATION
Time : Three Hours] [Maximum Marks : 60

Note : Attempt any five questions, selecting one question
from each unit. (Question No. 9) Unit-V is compulsory.
All questions carry equal marks.

e ¥OE WE H A U T w1 W w0 g, e ot
Y % SR A (ST Fem 9) v sfEe )
T v B HF T g

UNIT-I (3&1E-1)

1. Define Physical education. Explain its scope in detail.

it foen =t wfonfin #iftw we sy 5 fow
¥ gqwrEu)

2. Explain the various misconceptions regarding Physical
education.

it foren & 91 # fafas gt 31 = =X

UNIT-II (3TE-11)
3. Define Health. Explain various factors affecting health.
@R Ht Ui w1 @ 5 e w9 g

FH HI AR FH9T|

' 719-R/4500/KD/1221 [P.T.O.



What is Personal hygiene? Explain hygiene teeth and ears
in detail.

=g weoa 71 22 T S FE F =W  ar A
faer 9 =@

UNIT-TII (F&r$-1)
What do you mean by yoga? Explain the historical
development of yoga in India.

o W Y T THAT £ 9RE H 4 & tfefes faEm
T e Hiteal

. What are the types of yoga? Write about hath yoga in brief.
In7 fife YER % B0 €2 weam & 9n § ey o fafaw

UNIT-IV (3HE-1V)
Draw a neat and clean diagram of cell with labelling.
Elaborate the Parts of cell.

TEMET B Y Y T WF IR TS S FAG| HIER
% o &l foga i

. Explain the importance anatomy and Physiology in the field

of Physical education.
Tiif fren # &3 § iR = faam iR TR e @
HEE HI AT Fi

719-R/4500/KD/1221 2

(a)

(b)

(c)

(d)

(e)

®

(2)

(h)

@

@

UNIT-V (35E-V)
Compulsory Question
(afard uy)
What is tissue?
FaE 87
Write the differences between anatomy and Physiology.
TR SR frfwett ¥ ofm fafaw
Write the origin of the word "Yoga'.
‘am’ w=x &t Ifa fafam
Write three stages of pranayama.
wuEE % dh = fafe)
How can you maintain the personal hygiene of nails?
A TG AT WS B 99 @ g 87
What is health?
@R w1 87
Define skeletal system.
Fam a7 w1 G Fifg)
Write the organs of respiratory system.
vagq o = &0 fafeu)
Name any four types of Pranayama.
yomEE % el 9R T % W fafau
Write two defines of Physical education.

wrifte foen =1 4 wfamnd fafaw)

719-R/4500/KD/1221 3



e

220059 469

RolkNo: s Total Pages : 3
GSE/D-22 720

MUSIC (Vocal)

Paper-I (Theory)
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one
question from each unit. All questions carry equal marks.

M : TOF FE A Y TN I T W F T T
BY, |E 9" WA ® I 9w 9t wed 8 o
9

UNIT-I (3&T8-1)
1. Give full description of Raga Yaman and Bhupali. (4+4=8)
W F9 &R W S = ogee ofeg A

2. Write notation of Drut Khyal of any Raga of your syllabus.
8

q UEEE F R f g0 e # wfaR fafaw

3. Give full description of Raga Yaman with two tanas. 8
T I F1 G0 9R=F 3§ 9 |fed fata

UNIT-II ( 3T-11 )
4.  Write short notes on the following :
(a) Saptak.
(b) Thaat.

720/1,400/KD/495 4 [P.T.O.



() Vadi.
(d) Samvadi.
Frfafen w dfrs feofml fod .

(=) 99|

(2+4=8)

(@) 9=
(M) =
(=) T

. Relationship between folk and classical music. 8

d wifa ©d v S 8§ ogee 22

. What do you know about Swar and Naad. Write in detail.

8
W AR R F A A W F W 82 fawm ¥ fafau

UNIT-III ( 3sTE-I11 )

. Write the Teentaal with ekgun and dugun Layakaries. 8§

e dAaE % URE U8 T eEendEl |ied ferEu

. Write the life sketch and contribution towards music of Pt.

V.N. Bhatkhande, 8

Y. fawpmEm vmaEve st o e sfiem ok gie @
W 9% AR ® A ° == w

720/1,400/KD/495 2

9.

Write Introduction and ekgun of the following Talas.

(a) Ektal.

(b) Teental. (4+4=8)
frefafen ol & e @ R g fafew .

(=) TFaa|

(@) e

720/1,400/KD/495 3
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10. Write down the full description of one of the following Talas ROII'NO. ...ccoovicvissiasios Total Pages : 4
with Ekgun and Dugun Laykaries :
GSE/D-22 721
(a) Teentaal.
MUSIC INSTRUMENTAL
(b) Ektaal. 8 Paper-I
frefafes 4 & et v 7w =1 9w 9w 9@ &
T § TR e wi Time : Three Hours] [Maximum Marks : 40
(F) HFara| Note : Attempt five questions in all, selecting at least one question
from each Section. All questions carry equal marks.
) ! e : TOF @ H W FH W HH TH W F 99 S0

B, | Ui 99 ® SO S W W @ @

guE #

SECTION-I (@us-1)

1. Write down the notation of Razakhani Gat of any Raga‘along

with two Toras. 8
A TEEY 4 ¥ Rl w # wert W et
Hfen fafaw

2. Give full description of any two Ragas of the following :
(a) Bhupali.
(b) Yaman.

(c) Alhaiya Bilawal. (4+4=8)

721/900/KD/15 4 721/900/KD/15 & [P.T.O.



frafafes 4 | 5= O o =1 9o =g #ifw .
(F) st

(@) 991

(M) et faemEel

SECTION-II ( ®Us-I1)

. Define any four of the following :

(a) Naad.

(b) Swar;

(c) Saptak.

(d) Raga.

(e) Gat.

(f) Tora. : (24+24242=8)
frefafas & 3 feet e+ sfonfem =ife
(%) =

(|) =1

(1) T==E|

(%) T

(F) @i

(=) Tl

721/900/KD/15 2

4. What is Music ? What do you know about the Classical
Music and Light Music ? 8

i &Y Fea &2 weim 9w 9w 99 ofe 9 e
1 TR 27

S. Give the brief description of your own Instrument (Sitar). 8
o g (fear) =1 &89 o faswo dfsm

6. Write down the development of Indian Music from Vaidic
period to 12th century. 8

it Fw ¥ 128 Wl o @ 9wy o = faEm
F1 FUR HifeTl

SECTION-III ( ®ve-III )

7. Describe in detail inter-relationship between Folk music and
Classical music. 8

e it e A i % e W w1
ol Hife)

8. Write the contribution of Bharat Ratna awardee Sitar-Maestro
in the field of Music. 8

i & &89 ® 9% ™ W faar-ans =1 a9eE )

9. Write the life-sketch of Ustad Vilayat Khan emphasizing his
contribution in the field of music. 8
IR e @ w1 e # 8 ° dmE W T 27
T IH digw Sea-uieg fafam)

721/900/KD/15 3 [P.T.O.
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GSE/D-22 731

OFFICE MANAGEMENT
Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal

marks.

A ;. fel oiw vl @ s i vt v # ofE wEe

1. What are the types of office layout? State the underlying
Principles for a good office layout.

FETE IATAE T WER F B TF I FEEE B
e foaial &1 Icor@ it R

2. Describe the important departments of an office.

FAEE & "Aeaq fawrl &1 9o Fif

3. What do you mean by office management? Explain the
functions of an office manager.

FEEE FEYT T Y 71 T 87 UF HAET 6y %
w1 H = w

731/150/KD/801 \2V[P.T.O.
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. Write note on the following :

Fr=fafas w T fad -

(a) Written Communication.
fafea H=r|

(b) Decentralization and Centralization.
fodim it S

. State the importance of office layout.

HTFg A2 & Hed F1 Fan|

. Difference between verbal and non-verbal communication.

Hifgs 3Rk h-difes §9r & 9= @

. Explain in detail the role of office manager in the

organization.
WA # wrEed YEuE ® 9fEe i fTwR @ aeemnu

. Define Planning of office work. Explain the various types

of planning of office work.

TG FE F G it wite saten =51 w5
Iem & f&fa= vl =1 = Fit)

. Explain various factors affecting selection of office site.

FEfEd @ F 999 F WIS S 9 [Era= R #
=T St

731/150/KD/801 2

10. Write short note on any two :
ol 8 w Hfgw feooft fafan -

(a) Office manual.
Eapiceiiseal

(b) Office Memo.

Eapiceie el

(c) Use of Internet in Office.

FEGE H IS H I9GI

731/150/KD/801 3



<

| (b) Solve the equation x* — 23 — 522 + 10x — 3 = 0, by ROMENG st Total Pages : 4
method of resolution into quadratic factors. 2%
GSE/D-22 739
9. (a) Solve the equation x* + 3x> — 2x2 - 7x + 3 = 0, by ALGEBRA
Ferrari's method. 214 Paper-BM-111
(b) Show that for all values of k, x° + 522 + 3x + k has at Time : Three Hours] [Maximum Marks : 27
least two imaginary roots. 214

Note : Attempt five questions in all. All questions carry equal
marks. Question No. 1 is Compulsory.

Compulsory Question
1. (a) Show that sum of two invertible matrices need not be
invertible. 1
(b) Show that a square matrix is non-singular if and only if
all eigenvalues are non-zero. 1
(c) If —6 is a root of the equation x® + 2x2 — 17x + 42 = 0,
then find other roots. 2

(d) If a, B, v, are the roots of the equation -

1
Hm+n%+ak+ﬁum_9wquan. 1
() Show that 2x7 — 5x* + 3x® =1 = 0 has at least four
imaginary roots. 2
SECTION-I

2. (a) If A is a skew symmetric matrix of order n, then show
that adj (A) is symmetric or skew symmetric according
as n is odd or even. Ve

739/1,550/KD/489 4 739/1,550/KD/489 g8 [BTO.



(b)

Find non-singular matrices P and Q such that the matrix
PAQ is in normal form for the matrix

JaesZan—1 5
A=|5 1 4 =2

; 24
1 =4 11 =19

3. (a) Prove that the constant term, of the characteristic
polynomial of a matrix A is (-1)" |Al. 2Ys
(b) Find B = 3A - 2A% - A3 —5A% 4+ AS, if
A _ V2
e 1
...,L__m. -1 [ Z
SECTION-II
4. (a) For what value of A, the system of equations
-1 2 1||=x 1
3 -1 2]ly|=|1 hes
0 ' Allz 1
(1) No Solution (2) Unique Solution. 214
(b) If A is a real skew-symmetric matrix such that
A? + 1 = O, show that A is orthogonal matrix of even
order. 24
5. (a) Reduce the bilinear form x;y; + xy3 = X0; + X)),
+ X3y to the canonical form. Find equations of
transformations. 244
739/1,550/KD/489 2

(b)

Diagonalize the quadratic form
X2 +2x2 = Tx? —4x,x, +Bxx,

to the canonical form. Find rank, index and signature
of the form. Also find equations of transformations.

215
SECTION-III
6. (a) If ois areal root of the equation x* + px® + gx + r = 0,
where p, g, r are real numbers, then show that other
nﬂoﬂgﬁﬁna&mmhulﬁlmﬁnlmpmwc. 215
(b) Solve the equation
X -4 - 114 +40° + 1122 -4x-1=0
which has a root Qm+.,.__,m 2145
7. (a) If a, B, v are the roots of the equation
24 h&u +gx+r=0;
form an equation whose roots are s
o — F W e F Fst F M4
By'"™ oy’ of’
(b) Find the equation of squared difference of the cubic
P+ 6+ Tgx+2=0. 2%
SECTION-IV
8. (a) Show that the roots of the equation x> — 12x + 8 = 0
2 4m 8m
are 4 nﬁmﬂu.nacmﬁqv. poﬁmﬂv 2Ya
739/1,550/KD/489 3 [E.T.O.



MO NO. . covivisincvsarssnss Total Pages : 3

GSE/D-22 740
CALCULUS
Paper-BM-112
Time : Three Hours] [Maximum Marks : 26

Note : Attempt five questions in all, selecting one question from
each section. Question No. 1 is compulsory.

Compulsory Question

1. (a) Prove that |x| is not derivable. 1
(b) Expand e* in power of x by Maclaurin's theorem. 1
(c) Find the asymptotes parallel to the co-ordinate axes for

the curve X2y — % + xy + ¥ + x—y = 0. 1
"2
(d) Evaluate | cos’0d6. 1
0 <
(e) Find the length of the loop of the curve r = a(8? - 1).
2
SECTION-I
2. (a) Prove that the function f defined by
gl
x sin— ifx#0,
fix) = X is continuous and derivable
0 if x=0,

at x = 0. But its derivative is not continuous at x = 0.
244
P £
740/1,550/KD/22 fuﬂm [P.T.O.



(b) Ify=em o Ix show that
Elnn”_u_a._.m.lﬁa+ _Sa+_lﬁ=~+3mu_...rua
and find the value of y, (0). 2%
3. (a) State and prove Maclaurin's theorem with Lagrange's
form of remainder after n-terms. 2%
(b) Prove that
oty g
1 +4/1+ MT —— ... 2%
= T T = e g s
SECTION-II
4. (a) Find the asymptotes of the curve
x(x* -~ y%) + y(3y - x) = 0 and prove that the three
points of intersection of the curve and its asymptotes
lieon 7x =3y + 6= 0.
24
(b) Find the radius of curvature for the curve
r = a" cos nb. 2%
5. (a) Find the co-ordinates of the centre of curvature at any
g2
point on the ellipse Im.+w|uu_ Or X = a Cos g,
a
y = b sin q. Hence find the equation of its evolute. 2%
(b) Show that the chord of curvature through the pole of
4
Emnnu&emannﬁ+nammﬁmw=n 2%
740/1,550/KD/22 2

6. (a)

(b)

7. (a)

(b)

8. (a

(b)

(b)

SECTION-III

Trace the curve r = a (1 + cos 9). 214

Evaluate _.H.. e " dx, where n is a positive integer.
0

2%,

Show that the length of the loop of the curve
da
3ay® = x(x - a)* is —. 24
ay? ) i

Find the intrinsic equation of the parabola x2 = 4ay.
215

SECTION-IV

Find the area of the loop of the curve y?(a — x)
= x%(a + x). Also find the area of the portion bounded
by the curve and its asymptotes. 2%

Find the area included between the cycloid
x=a(8 —sin B), y=a (1 — cos B) and its base. 2%

The loop of the curve 2ay* = x(x — a)? revolves about
the x-axis. Find the volume of the solid so generated.

2%
Find the centroid of the semi-circular region of radius
‘r' by Pappus theorem. 2

740/1,550/KD/22 3
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(b) Find the equations to the generators of the hyperboloid

2y 7
n|u+ odve =1 which pass through the point
(a cos a, b sin o, 0). (214)

9. Reduce the equation

1122 + 10y? + 622 — 8yz + dzx — 12xy + 72x — 72y + 362
+150=10

to the standard form and show that it represents an ellipsoid
and find the equations of the axes. (5)

741/1,550/KD/488 4

RN I G s kes basans Total Pages : 4
GSE/D-22 41
SOLID GEOMETRY
Paper-BM-113

Time : Three Hours] [Maximum Marks : 27

Note : Attempt five questions in all, selecting one question from
each section and the compulsory question.

Compulsory Question

1. (a) Write the equation of the conic through the intersection
of the two given conics. (2)

(b) Find the coordinates of the points in which the line

x+2 _ y+9 z-8
4 . S

2 +y2 + 22 =49, 2

(c) Define the director sphere of the central conicoid. (1)

meets the sphere

(d) Write condition for the plane Ix + my + nz = p to touch

the conicoid ax® + Sh +eczt=1. (1)

(¢) Write the area of the section of the conicoid ax® + by?

+ ¢z = 1 by the plane Ix + my + nz = 0. (1)
SECTION-I

2. (a) What conic does the equation 36x% + 24xy + 292 —
72x + 126y + 81 = 0 represent? Also find its Centre.
(2Y2)

ad [P.T.O.

741/1,550/KD/488



(b)

Find the equation of the conic passing through the point
A (1, 1) and the intersection of the conic x* + 2xy +
5y* — Tx — 8y + 6 = 0 with the straight lines

x—y-5=0and3x+y-11=0. (214)
3. (a) Prove that the two naumnm".ﬁu+m§+vvul 1=10
and Ax? + 2Hxy + By? — 1 = 0 can be placed so as to be
_ (a=b)’+4n* _(A-B) +4H*
nﬁnﬁoﬁﬂ. if ..f,...u__w Iﬁuu_u ﬁhrm = mwuu = ...‘Mwmu__.
(b) Prove that the tangents at the extremities of any focal
chord of a conic intersect on the corresponding directrix.
(242)
SECTION-II
4. (a) A sphere of constant radius r passes through the origin
O and meets the axes in points A, B and C. Show that
the locus of the foot of the perpendicular from origin
to the plane ABC is given by
R+ P2+ 22 (24 y 2+ 7Y =42 (2%4)
(b) Find the limiting points of the co-axal system of
spheres :
P+ +2+3x-3y+6=0and
P4y +2-6y-6z+6=0. (2v2)
5. (a) Planes through OX and OY include an angle ct. Show
that their line of intersection lies on the cone
22 +y*+ P =2y an?a. (2%4)
741/1,550/KD/488 2

(b)

6. (a)

(b)

7. (a)

(b)

8. (a)

741/1,550/KD/488 3

Find the equation of the enveloping cylinder of the
sphere, x* + y* + z2 — 4x + 6y — 8z — 4 = 0 having its

generators parallel to the line 3 HW .M. (2%2)

SECTION-III

Find the equation of the tangent plane at the point
(%, ¥;, 2;) of the central conicoid ax® + by? + ¢ = 1.
(2%2)

Find the equation of the polar of the line

x=1 y=3 /'7=3 =
S m e wrt 2 -2 +32=4. (2%)

Find the locus of the points from which three mutually
perpendicular tangent lines can be drawn to the surface

a® + by? +c2 = 1. (2%4)

The normal at any point P of a central conicoid

ax? + by? + ¢z = 1, meets the three principal planes at

Gy, Gy, G;. Show that PG, : PG, : PG, = al: el
(242)

SECTION-IV

One axis of a central section of the conicoid ax? + by?
+ cz% = 1 lies in the plane px + gy + rz = 0 . Show that
the other lies on the cone

(b—c)pyz + (c — a)gzx + (a — Byrxy = (. (214)
[P.T.O.
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LITERATURE IN ENGLISH (1550-1660)
Paper-II

Time : Three Hours] [Maximum Marks : 80
Note : Attempt questions in Section A, B and C as per direction.

SECTION-A

1. Explain with reference to the context any three of the
following :
(a) With how sad steps, O moon, thou climb'st the skies;
How silently, and with how wan a face.
What, may it be that even in heavenly place
That busy archer his sharp arrows tries?
(b) Love's not Time's fool, though rosy lips and cheeks
Within his bending sickle's compass come;
Love alters not with his brief hours and weeks,
But bears it out even to the edge of doom.
If this be error and upon me prov'd,
I never writ, nor no man ever lov'd.
(c) If they be two, they are two so
As stiff twin compasses are two;
Thy soul, the fixed foot, makes no show
To move, but doth, if the other do.
And though it in the centre sit,
Yet when the other far doth roam,
It leans and hearkens after it,
And grows erect, as that comes home.

31702/600/KD/355 L T.0.
wg
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(d) Sometime too hot the eye of heaven shines,
And often is his gold complexion dimmed;
And every fair from fair sometime declines,
By chance, or nature's changing course, untrimmed:
But thy eternal summer shall not fade,
Nor lose possession of that fair thou ow'st.
Nor shall death brag thou wand'rest in his shade,
When in eternal lines to Time thou grow'st. (3x8=24)

SECTION-B

Attempt any two of the following questions :
2. Give a critical evaluation of Philip Sidney as an Elizabethan
sonneteer.

3. Attempt an estimation of William Shakespeare as a writer of
sonnets with reference to the prescribed sonnets.

4. Discuss John Donne as a metaphysical poet. (2x14=28)

SECTION-C

5. (a) Write a note in about 400 words each on any two of
the following :
(i) Francis Bacon.
(iil) John Webster.
(iii) Wyatt. (2%6.5=13)
(b) Attempt a short note of about 200 words each on any
three of the following :
(i)  Othello.
(i) Gorboduc.
(i) Leviathan.
(iv) Euphues. (3%x5=15)

31702/600/KD/355 2
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BHE/D-22 31722
INDIAN CONSTITUTION
Paper-I
Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions selecting one question from

e :

1.

each unit, Question no. 9 (Unit-V) is compulsory.
TF THE Y UH WA gAE T ey % IW
difg W g 9 (FE-V) afEd R

UNIT-I (3&E-1)

'The Constitution of India is a _.m._an.mnn_ edition" of the
Government of India Act-1935." In the light of this statement
describe the main sources of the Indian Constitution. _ 16
Fnﬁdﬂﬂﬁnﬁﬂﬁmsﬁ_ﬁnﬁuﬂh.g
=" 21’ T weR W g ¥ 9Rdm uivE % qe
oal F1 g FiEg

Critically examine the Fundamental Duties incorporated in
the Constitution of India by the 42nd amendment. 16

ARAE WEaYE § 429 g9y g gfmfem fRu o
it FdeA ® AeraTEF AR Fwu)

31722/300/KD/419 Wy [P-TO.



UNIT-TI ( 3hrE-11 )
Describe the method of election, functions and position of
the Vice-President of India. 16
WRd % TNl & gAE, w1 9w fufy @ sew
£yl

How is the Chief Minister of state appointed? Discuss his
powers, functions and position. 16

T & Yo & fgfm &9 26 &7 seer v,
M@ aa fefa =1 aofF =i

UNIT-III ( 3&hrE-111 )
Describe the procedure of Law-making in Indian Parliament.
16
aRdE w9y # fafa-fmin sfem e el S

Describe the composition, powers and functions of the State
Legislature. 16

T faurdes =1 =, vfEE a =9 51 g0 F:1

UNIT-1V (3E-1V)
Describe the composition, powers and jurisdiction of the
Supreme Court of India. 16
YE % Haled AHEd ® WeA, NiERE a9 SEen
H1 U wife)

31722/300/KD/419 2

What do you mean by Judicial Activism? Describe its need
and justification. 16
fas WhEam F o @Y 22 Toel sEvImE e
e =1 =mEn Fifw

UNIT-V (3&TE-V )
Compulsory Question ( 31f&E wy)
(i) The emergency powers of the President are taken from

the Constitution of which country?

(a) Germany

(b) America

(c) England

(d) Canada.

TG Fi Hrewei vl frg 3w 5 e 3
@t T #2
(31) S
(A) =mfE
(®) Teie
(%) ==

(i) Who is the author of the book "Parliamentary
Democracy in India"?
(a) V.N. Shukla
(b) K.V. Rao
(c) D.D. Basu
(d) K.T. Shah.

31722/300/KD/419 3 [P.T.O.



(i)

(1v)

"Parliamentary Democracy in India" T&T& & @@
A 82

(37) A RN

(F) 4. @

(9) S8 =g

(%) .3 el

How many articles are there in the Constitution of India?
(a) 395

(b) 390

(c) 250

(d) 200.

W ® WEuE ¥ wo e ageR €

(31) 395

(9) 390

(¥) 250

(=) 200.

Fundamental rights have been explained in which part
of the Constitution ?

(a) First part
(b) Third part
(c) Second part
(d) Sixth part.

31722/300/KD/419 4

(v)

e sfimr #7 =ren gaus & am o =t
T %2

(37) wom W A
() g« A
(®) fedm am A
(%) B3 Hm HI

"If I do not want to be a slave, I should not agree to be
the owner of a slave." Whose statement is this?

(a) Mahatma Gandhi

(b) Abraham Lincoln

(c) Woodrow Wilson

(d) Jayprakash Narayan.

“gfy ¥ T WE @ WEA o 99 UF W H

@t a9 F fAu TeEw A8 g 9ney” 98 HY
g 27

(31) FeETe T
(7) smeg fds
(¥) geu faem

(%) =99/ TEwI

31722/300/KD/419 5 [P.T.O.



Sabha is presided b
(vi) For how long can a person who is not a member of (viii) Lok Sabha is p b

Parliament remain a minister? (a) Vice President

(a) Up to 4 months (b) Prime Minister

(b) Up to 6 months (c) Speaker

(c) Up to 8 months (d) President. (8x2=16)

(d) Up to 1 year.
Wl = 99 F1 959 T 8, 9 w9 s

SrEET T AT FF HE ¢ 2

fFm T o W W A (1) S
(31) 4 TR TF (/) WA
(9) 6 9EH % (§) wH
(9) 8§ WM & (%) Tufal
(%) 1 a9 a=

(vii) How many members does the President of India
nominate in the Rajya Sabha?

(@) 11 ' W
(b) 12

© 14

(d) 16.

T AW A R WeE wHAER s 82

(30) 11

@) 12

(®) 14

(%) 16.
31722/300/KD/419 6 31722/300/KD/419 7



(vii)

(viii)

Whose name is associated with the Principle of
Separation of Powers?

(a) Gattle
(b) Montesquieu
(c) Laski

(d) None of the above.

vfE ges fagia 3 e &1 9m w32
(&) Tem

(%) wAi=eg

(|) <=t

() ¥4 A = T

Bi-Party system are found in which of the following
countries?

(a) India

(b) China

(c) America

(d) Pakistan. (8x2=16)

= Ty yoTeht frefafas ¥ 9 fw 2w F wd o
#?

(31) WHm

() =

(|) smfEm

(3) wifewwam|

31723/300/KD/808 6

Time : Three Hours]
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I Roll No. ciiinaainwasns Total Pages : 6
BHE/D-22 31723
PRINCIPLES OF POLITICAL SCIENCE
Paper-Il

[Maximum Marks : 80

Note : Attempt any five questions by selecting one question from

each unit. Question No. 9 is compulsory.

: WO® THE W UF W F 99 w0 §d 9" S #
IW el v g 9 afEr 2

UNIT-I (F&T8-1)

What do you mean by Political Science? Discuss its nature.

(16)
T fEm @ o 7= wue € wWEl Wk @
fag= =ifem

Discuss the relationship between Political Science and
History. (16)
ot famm SR shem @ dw wEn @ == wif

UNIT-II (¥oTE-11)
Define State and discuss its essential elements. (16)

T =i yftafig Hifsw 9o 0= om9vgs 7@ #1 faa=
Hiterg]

\qu [P-T.0.



Discuss the Marxian theory regarding the origin of state.

(16)
T F 0 B gAY § A fogim = fEew
SHifea)

UNIT-III (S&TE-II1)
Define Sovereignty. Critically discuss Pluralistic theory of
sovereignty. (16)

I H IR i degn @ TEeEd faeil w9
AASATHE T= HiTg)

What do you mean by Social Justice? How it can be
secured? (16)

THINE =E 9 a9 = e €2 1 49 g fem
T £7

UNIT-IV (F&E-1V)
What do you mean by Judiciary? Describe the main functions
of Judiciary. (16)
TFafEs | o = T €2 Tt ® 5w w5
1 FUH FIFC

What do you mean by Pressure Groups? Discuss the methods
of working of Pressure Groups. (16)

TAE R ¥ Y F FEE €7 TAE W w1 FeEoned
F e Fiw

31723/300/KD/808 2

9.

31723/300/KD/808 3

UNIT-V (3%T-V)
Compulsory Question
(atPard wv)
Multiple Choice Questions :
=g fa=edlm 9em
(i)  Who is the author of "Modern Political Analysis"?
{a) Lasswell
(b) Bryce
()  Robert Dahl
(d) Caitlin.
""Hiig7 difafere Tafefaa'’ w1 das w9 §?
(31) wEEw
(q) w158
() =2 =ga
(%) el
(i)  Who was the first Scholar to use the state in the modern
sense?
{a) Aristotle
(b) Socrates
(¢) Machiavelli
(d) Plato.
T %1 2myf a9 o ga@ vee frm fiagm 3 wam

feran?

(31) as
(") "o
(@) HerEet
() ==

[P.T.O.



(iii) What is the maximum Population of the State by Plato?

(iv)

(a) 20000
(b) 11000
(c) 5040
(d) 1040.

e A T # oAfus § afuw SeEen fEa
T 77

(#1) 20000

() 11000

(|) 5040

(%) 1040.

To whom is the Principle of Legal Sovereignty
Associated?

(a) Austin

(b) Machiavelli
{c) Rousseau
(d) Plato.

FHrA wqE & fagl fees am § wafe 22
(1) &

(%) et

(|) &=

() ==

31723/300/KD/808 4

(v)

(vi)

Who among the following was the main supporter of
natural rights?

(a) Lock

(b) T.H. Green
(¢) Laski

(d) Easton.

fafafas & ¥ FR-w THhe ofER w1 5=
Tads 917

(1) @i+
(7) dw=. uF
(§) et
(%) =

Who is the author of the book "A Theory of Justice".
(a) John Rawls

(b) Lock
(c) Austin
(d) Hobbes.

‘g el sife Siew!! e TS 1 oad 87
(21) =7 dew

(") s

(|) sifeA

(z) ==
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5. Write an essay on any one of the following topics in about ROLENO. ...ttt TR dER0

300 words : 12 GSM/D-22 831

(1) Life during Pandemic ENGLISH (Compulsory)

(i1) Mobile Phones for Students : A Boon or A Bane ?

Time Allowed : 3 Hours] [Maximum Marks : 80
(iii) The Problem of Unemployment

(iv) Crime against Women, Note : All questions are compulsory.

I. Explain the given extract with reference to the
context : 8

Where the mind is led forward by thee into ever-widening
thought and action—

Into that heaven of freedom, my Father, let my country
awake. .

Or
Can storied urn or animated bust
Back to its mansion call the fleeting breath ?
Can Honour’s voice provoke the silent dust,
Or Flatt'ry soothe the dull cold ear of Death ?
2. (a) Answer any six of the following questions in a word/
phrase/sentence : 6

(1) How many sonnets does Shakespeare's Sonnet
Sequence, which was published in 1609, have ?

(i) How is man stuck between an Angel and an
Animal ?

831/K/95/18,500 6 831/K/95/18.500 P.T.O.



(iii) Who are the “Un-honoured Dead” in Elegy Or

1 H ’ 3 o I CErP
Written in a Country Churchyard” ? Write a critical appreciation of the poem “When You are

(iv) What are we “out to tune” with in ‘The World Old". 12

is Too Much with Us’? g .
e _ 4. (a) Attempt any fifteen items out of given twenty. Do

(v) Why does the poet refer to the urn as “Cold as directed : 15

pastoral™in *Ode on:@iGrecian Umn’? Fill in the blanks using appropriate infinitives or

(vi) What do you think happened to the Duchess in gerund forms of the verbs given in brackets :
*My Last Duchess’?

(1) Do you remember ............... (meet) Ramesh in
(vii) What type of strength does the poet pray for in my office last year ?
‘Where the Mind is without Fear'? (ii) Gagan is fond of ............... (travel).
(viil) What are the “Shining Loads” in *The Bangle (iii) She refused ............... (explain) the reasons
Sellers’? behind her failure.
(b) Answer any two of the following questions in about (iv) They proposed ............... (buy) the newly built
100 words each : 6.6 house.
(i) Explain the beauty and significance of bangles (v) Don’t forget ............... (lock) the door when
as brought out by the poet. = you: go out.
(i) According to the poem ‘Elegy Written in a Fill in the blanks with correct prepositions :
Country Churchyard’. What are the ways to pay (vi) She went out ....... <ien... the room.
tributes and respect to the dead ? (vii) Eggs are sold ............... the dozen.
(ii1) Explain Alexander Pope’s concept of man. (viii) T am not happy ............ you.
3.  Answer the following questions in about 200 words : (1x) Pay proper respect ...... cvsesnees YOUT SUPETIOLS.
Trace the development of the theme of transience and (x) You will be liable ............... punishment if you
permanence in ‘Ode on a Grecian Urn’. do not wear mask.

831/K/95/18,500 2 831/K/95/18,500 3 P. T. O.



Identify and underline the main clause and
subordinate clause in the sentences given
below :

(xi) Wherever there is cleanliness, people are
generally healthy.

(xi1) I don’t know where he lives.

(xiil) That is the man whom [ met at the wedding
party.

Frame sentences as per the following verb patterns:
(xiv) Subject+Verb Intransitive

(xv) mcEnﬁ+mn+naﬂﬁ_namzqm&§2
(xvi) Subject+Verb Transitive + Noun/Pronoun

Complete the sentences by choosing the correct
Prefix given in brackets :

(xvii) No, that answer s .............. nv:,nn.. It is wrong.
(dis/in/mis/re)

(xviii) Oh, I'm sorry, I didn’t hear you correctly. I

sseeeenneneee UNderstood you. (dis/in/mis/re)

Fill in the blanks with words formed by adding
suitable suffixes to the ones in brackets :

(xix) Havea........... ... of honey in the morning. (spoon)

(xx) She is wonderful lady. The best thing about her
is her ............... (kind)

831/K/95/18,500 4

(b) Define any one of the following with
examples : 6

(i) Hyperbole.

(ii) Irony.

(¢) Give Phonetic transcription of any five words : 5

(i) Bear. (i1) Purple
(iii) Hue (iv) Lion o
(v) Simple (vi) Seat
(vii) Rat (viii) Circle.

Or
For (BLIND candidates only) :

Give antonyms of the following words, Do any five :

(i) Increase (ii) Peace
(iii) Love (iv) Melt
(v) Show (vi) Punish

(vil) Forget (viii) Finish.

(d) Supply synonyms for the following words (do any
four) : 4

(i) Try

(iv) Beautiful

(i) Startle
(iii) Thrill

(v) Utter (vi) Reward.

331/K/95/18,500 5 P. T.O:
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(A) froysh
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(i) Adoption (i) Account (iii) Atheism

(1v) Biography (v) Brochure (vi) Climax
(vii) Concept (viii) Director  (ix) Element
(x) Essay (xi) Figure of Speech

(xii) Idealism (x11i)) Humanism,
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(b) 7B far 3 faor fopr 32
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(iii)
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(i)
(iii)
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efarTg
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(i)
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(@) 992z =1 Hifefas ufi=g Sifs:
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IGlER

9.  On the outline map of India, show the expansion of
British Empire upto 1856 A.D. and also write an
explanatory note. 16

841/K/101/10,500 6

(OUTLINE MAP OF INDIA)

RollNo: Ll o Total Pages : 6
GSM/D-22 841
POLITICAL HISTORY OF INDIA (1526-1857 A.D.)

Option—(i)

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry cqual marks. The part relating to
explanatory note on map will carry full marks for
visually ‘handicapped candidates only.
ﬂﬂﬂwﬂwﬂﬁ@ﬁﬂmﬁﬂﬁaﬂﬁﬂ Hel
e ¥l F S N W wem 1 afEd 3
T F 3% FEA E Sew e i 5
fay wAfes ae=ht feoht Ot am 3 T i B

Compulsory Question ( 2Fard Uy )

1. Choose the correct answer from the given options, Each
questions carries 2 marks :

jﬂ_ﬂ@mdmﬁﬁﬁmﬂaﬂﬂﬂﬁﬂmﬂmﬁ_
WA 2 IEH W e :

(1) Who established Ermrm_ Empire in India ?
" (a) Akbar (b) Babar

" (¢) Shajahan (d) Aurangzeb.

841/K/101/10.500 P.T. O.



ﬂﬁmﬁmﬂaﬂ&g%gw : THH T Y& A @@= T4l

(a) aTFat (b) == : (a) T 1564 (b) FF=T 1564
(c) wmEwE (d) (c) I 1764 (d) AT 1764,
(ii) What was the Childhood nane of Sher Shah A0 b IS Cevsmor Geneml QUL e Revolt of
Surt 9 1857 A.D. ?
urr ¢
(a) Lord Canning (b) Lord Irwin
(a) Jauna Khan (b) Farid Khan £ u
d (¢c) Lord Lytton (d) Lord Willingdon.
(c) Jamal Khan (d) Hassan Khan. :
1857 % & fasie & w99 TR v @H 9
YW JU F TG99 F N9 a4 90 :
5 (a) @i Hfm (b) =i 3w
@l b) WHR &l . ’
() S °(b) o (c) wE foem (d) @ faferre
© - (I i (vi) Who introduced The .mzdmmmmmﬁ. Alliance’ system in
(iti) When was Ibadat Khana built ? India 7
(a) 1570 A.D. (b) 1580 A.D. . (a) Lord Dalhousie  (b) Lord Ripan
(c) 1575 A.D. (d) 1585 A.D. (c) Lord Wellesley  (d) Nont of these.

@ # WerdF WPy smEEn Rl uw w6
(a) g =R (b) =g fiwa
(c) @i Seiwet (d) 39 F +5 I

(vii) The Governor General who introduced “The Doctrine

HEd @ %9 341
(@) 1570 2 (b) 1580 Z.
() 1575 % (d) 1585 =.I

(iv) When was The Battle of Buxar Fought ?

; of Lapse™ .
(@) October, 1564 ~ ~(b) November, 1564 B (a) Lord Dalhousie  (b) William Bentinck
’ (¢) July, 1764 (d) October, 1764. (c) Lord Comnwallis (d) Warren Hastings.

841/K/101/10.500 2 841/K/101/10,500 3 . i 0 B



(e THAT R n# ....pﬂ.nﬁ y%* .
T Tz UNIT-I1 (Z&E-11)

foFa?
(a) @< Tt (by fafemm &fes 4. Examine the Rajput Policy of Akbar and its effects. 16
(c) € FHaferd  (d) = 2femwm) ﬂﬁﬂﬂﬂm&ﬂm&ﬁ%ﬂiﬂﬂu
_ it
(viii) H;”nz was The Punjab Annexation with the British m_
a 7 i :
ik . _ 5. Critically Examine Aurangzeb’s responsibility for the
(a) 1829 A.D. (b) 1839 A.D | downfal! of the Mughal Empire. 16
(c) 1849 A.D. (d) 1854 AD | . T e ® W A AR ® SWadE

S k Ciciceipc i LI

417
5 UNIT-II1 (Zeme-111)
(a) 1829 € g
) (b) 1839 %. 6. What do you mean by Subsidiary alliance ? Explain its
WOEHEES () 1854 % role in the Expansion of British Rule in India. 16
UNIT-I (Z%TE41) R R
. : % worR § I g B T Hiw -
2. Describe the caus : - |
of Panipat. P s it Batile 7. Explain critically the various causes responsible for the
qHTe % meEm = & 3 5 Uprising of 1857 A.D. ; 16
-, FRON, HIIE w4l W : . b :
fad=mn - =ifem) . ! ;ﬂ%ﬂ%ﬂg%@?ﬂﬂm&%
sk - _ TS SIS R
= 1 . -
ritically examine the main features of the Administration
of Sher Shah Suri. e UNIT-IV (MAP) (Z&HE-1V) (F=T)
FIER 1 e : " = !
H_ﬁmﬁ_d._ q = ! yHE fvmme w1 s 3 On the outline map of India, show the Political condition
y of India. On the eve of Babur’s Invasion and also write an
841/K/101710.500 % explanatory note. 16

841/K/101/10,500 5 P.T.O.



@l fqEEwEe wOHE H O A o)

(@) A FEE € (b) Al sEEEd A

(c) mar 7 ==t (d) 4ot TR dHe
(vi) Aurobindo wrote the following book on Spirituality.

{a) The life Divine (b) Essays on Gita

(c) The Bases of Yoga (d) None of these.

A= A FoEr W A Ty

(a) The life Divine (b) Essays on Gita

(¢) The Bases of Yoga (d) None of these.
(vii) Ghadar Party established in :

(a) America (b) England

(c) Africa (d) India.

TR U I A FE OF R 2

(a) e H (b) TEvE §

(c) =TFrH H (d) 4 Hi
(viii) Who first used the word Swarajya?

(a) Swami Ram Krishna (b) Swami Dayanand
Paramhans

(c) Swami Vivekananda (d) Swami Nam Dev.
I Y H §Em manem fEed

(@) =l TWEW wEEH (b)) @i TEEe

(¢) = fgasm= (d) T AmEE)

S44/K/104/9.400 4

Roll:NG: . AR R i an Total Pages : 4
GSM/D-22 844
INDIAN POLITICAL THINKERS
Paper—I
Option—(ii)

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal
marks.
el ot sl ® sw A wd v @ o
TuE B
I.  What do you know about Rav’s views on Education?
Discuss. : 16
e == 1 # faur = faww § s w0 9w 22
== it
2. Swami Dayanand was a Religious Reformer. Explain it.
16

-l

@ AR UF vd guns 9| s s

3. Explain the Dadabhai Naoroji contribution to Indian
Political thought. 16

b C1 2 B 1T 70 o e B o O o el o B
I Fwitau)
4. Describe the Political veiws of Swami Vivekananda. 16

B 1L 2 e Ol 51 o O o 1 4 e W e 5

844/K/104/9,400 P.T. O.



Critically examine Gokhale’s liberalism, 16
e F WER # e e S
Describe the Aurobindo Ghose views on Nationalism. 16
T2aR W Rfa= "9 & fFEn &1 a9k Fif
Describe the Social views of Lala Lajpat rai. 16
e eI U9 % 9EeE e w1 oave i

Discuss the main contribution of Tilak to the Political
thoughts. 16

el feaml %1 faes =1 gey arem # 9=t it

Objective type questions : 8x2=16
FHAS W :
(i) When was Brahmo Samaj founded on :
(a) 1823 (b) 1827
(c) 1828 (d) 1829

€ FHN Sl TN w9 g efi?
(a) 1823 H (b) 1827 H
(c) 1828 H (d) 1829 H
(i1) Who is called Martin Luther of India?
(a)  Raja Ram Mohan Roy (b) Dr. B.R. Ambedkar

(c) Dadabhai Naoroji (d) Dayanand Saraswati.

844/K/104/9,400 2

(iii)

G 1 Wied gl e Fwel 9 27
(by = F.m FEswL
(d) AR T

(a) U= TH Oed T4
(c) TIWE i
When was Dadabhai Naoroji born?
(a) at 3rd Sept. 1801 A.D.

(b) at 4th Sept. 1825 A.D.

(¢) 31st December, 1829 A.D.

(d) 16th December. 1833 A.D.
ZEINE A W W HA g o412
(a) 3 fagm=m, 1801 % =

(b) 4 foamm 1825 3 =

(c) 31 fegem, 1829 % =

(d) 16 fem=m, 1833 % =i

(iv) Gokhale became the head of Indian National
Congress. ]
(a) 1905 A.D. (b) 1906 A.D.
(¢) 1907 A.D. (d) 1916 A.D.
s fRg ad 9RdE UNg FEE % 9YE d47
(a) 1905 % H (b) 1906 % H
(c) 1907 % H (d) 1916 % #

(v) What was the name of mother of Swami
Vivckananda?
(a) Smt. Kasturba Bai (b) Smit. Bhuvneshwari

Devi
(¢) Smt. Durga devi (d) Smt. Annie Besant.
844/K/104/9,400 3 PT0:



(b) Difference between Public and Private Investment.
Tt it fet fEw § smm
10. Discuss the concept and determinants of Marginal efficiency
of Capital (MEC). 16
GSil 1 HHG IOEEA W YR 3R 3He i gl
F SN wife

845/K/105/3,900 8

_

Roll No. ............. s Total Pages : 8

GSM/D-22 845

-

MACRO ECONOMICS-I
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question Nos. 1 and
2 are compulsory. Attempt remaining three questions
selecting one question from any of the three units
out of the four Units. All questions carry equal marks.
mmiﬂui.ﬁmﬂ&aéﬂﬂ;ﬂ: R
Nﬂ?ﬂmm._&iﬂqwﬂa&.m.@i+%

¥ %@Aﬂjmﬂaﬂﬁmﬁ&m%uﬁ

L A Fv A F siw gum &
Compulsory Question ( 3tfrard Uy )
1. A farmer produces cotton worth 1500 and sells it to .
mill owner. Who converts this cotton into thread and
sells thread to textile manufacturing industry for ¥1800.

The industry manufactures cloth and sells it to customer
for ¥2500. 16

On the basis of the above case study, answer the
following questions : .

(1) How would your calculate gross value added ?
(1) Define Intermediate goods. Find out these goods in .

the above example.

845/K/105/3,900 P.T.O.



- (jii) Do we consider intermediate goods while calculating
gross value added. Why ?
(iv) How is the problem in question ? (iii) be avoided ?

= fREE 21500 1 HUE SAfEd FE € R S8
e #1 99 <@ 1 i Afas =9 S99 = 96 |

fafia w@ & ok =9 uM S == fafEo s=m S

$1800 H ==an 81 3@ FSl w1 fuiv w5 € SR TEE
FI T 32500 F H= 2

W e & 9w W Fefafes gw @ Sw A

) I THE g e E T S w7

(i) weAadt el w1 AR S Sws swe §
¥ gEgEl YW e .

(iii) TFe qed gfe F TOH BW FY TN TH HEAA
el ® oW H W@ €2 w\

(iv) W (i) ,ﬁﬂiﬂwﬂmﬂ.%ﬁﬂﬁwu

2. (a) Choose the Correct alternative : 5
sfaa fawen g
. (i) As per the classical theory, m_mmm:n:_un is a
function of :
(a) Labour (b) Price

(¢c) Level of employn #nt
(d) Both (a) and (c).
845/K/105/3,900 2

wWHEE fagm F FER, I9Rd WA &
(a), 79 i
(b) ®MEA F
(c) TR . =
(d) s (a) T (c) =0
(ii) Induced investment and level of income is :
(a) Inversely related
(b) Directly related
{c) Not related
(d) None of these.
I faw 99 @ W ER 6
(a) faofa &9 § wayg
(b) WAH Y W HalHg
(c) Tafum & =W
(d) =9 ® =5 I
(ii1) The Shape of Consumption function q_smw be :
(a) Linear
(b) Non-linear
(e} Linesr Starting 'with point of origin

(d) _All of these.

845/K/105/3,900 3 P.T.O.



AT FeH F AR B OWEA L ISt #1 HEG IOEET 9% F odd B o

(a) Y& (@ ¢ ¥ T IW H WF a2 Tl
(b) et (b) 7 & =W A= F wWe fmar gan
() X-¥9 % WHAIR o @

() 7 a3 ¥ M9 3@ 7uw
(d) Iz |4h

(iv) Value of output :

d) ¥ET TF

(b) Match the following with their correct answer : 5

() Sales + Change in mﬁmw (i) Keynesian model Exogeneous spending
. - (ii) Expansionary Aggregate demand

(b) Sales — Change in stock . Fiscal policy curve shifts forward

(¢) Sales + Closing stock — Opening Stock (iii) 45° line A short period

(d) Both (a) and (c). analysis

IR T g (iv) Fall in rate of interest Consumption +

Investment function

il T (v) Shift in aggregate

(b) ot - =% 7 Thady demand curve A line of reference
(c) forml + &ifm =& - o == ) fefafas =1 37% &6 sw ¥ foam wfw
(&) T (a) d41 (c) =i : (i) H~iga Aew afestia =4

(v) Slope of the MEC curve is - . (ii) T T A AT T .n i

ifa # R fagwe

(a) Upward from left to right (i) 45° P e
(b) Downward from left to right (v) =T @ § TqsT T e
(¢) A horizontal straight line v) T i w5 e
(d) Curvilinear. fagsmE -

845/K/105/3,900 4 845/K/105/3,900 5 P.T.O.



(¢) Answer the following questions : : 6
(i) Define effective demand

(if) What is meant by injections in circular flow of

income ?
(iii) Define Gross investment.
fefafas s & sw ifm.
(i) w9l =i =i g
(ii) 3% % 13 4% 3 F9ET § a9 7 g9e

&2
(iii) e faw F: i i

UNIT-1 (3=T3-1)

Distinguish between Microeconomics and
Macroeconomics. Explain the importance and limitations

of Macroeconomics. 16

ﬂ_ﬁlmmﬁﬂﬂﬁ%ﬁﬁﬂﬂ_ﬁﬂﬁmﬂ?ﬂ_
TR & e g dmel # oavi i

Explain the income method of measurement of National
Income. . 16

M@aﬂﬂiﬂﬁwﬂmﬂgﬂﬂﬁﬂ?ﬂ

845/K/105/3,900 : 6

-

=

UNIT-II (g=h1E-11)

S:  Bring out the main implications of Say’s law of markets.

What are it’s limitations. 16

_@.%maﬂwﬂﬁ_%mﬁigeﬁﬂﬁﬂm
Eo )

Explain the salient features of Keynesian theory of
Employment. 16

jﬂ%mﬁﬁﬂ%?ﬂﬂﬂ@ﬁﬂ&ﬂ%%
& ity

UNIT-HI ( Z=hTE-111 )

State and explain the Psychological law of consumption as
forwarded by Keyneg. 16

ﬂﬁﬂnﬁwﬁﬂ@@ﬂﬁﬂﬁﬂ_ﬁwﬂﬁ_

What is meant by Consumption function ? Discuss the
technical attributes of Consumption function. 16

ﬂ%#ﬂm@ﬂﬁ?ﬁﬂﬂﬂmﬂﬂwﬂﬂﬂ%
w A wifem

UNIT-1V (3&iE-1V)

Write short notes on the following : 16
Fefdfes w wfyw froafial fafa

(a) Components of Investment.

frasr & maes)

£45/K/105/3.900 7 P. T. O.



(b) What do you mean by complicated fracture?
Sifew zafee w719 T i 2 2

(c) WhatdoyoumeanbyAIDS?
TEH § 1 a9 @ ?

(d) Whatdoyou mean by food & nutrition ?
TR | 91997 | 47 a1 2 ?

(e) Explainanyonemineral.
et w @i o a1 9o =T |

(f) Whatdo you mean by systematic circulation?
T 15 W1 | 279 &1 902 & 2

(20 Whatdoyou mean by viral hepatitis?
AT BURIEEE | 27 41 GHE © 2

(h) What do you mean by cire :E.?_.w system ?
T aTE HEIH | 9 SAfuE § 2

(i) Enlisttheinjuriesof Bones.

(i) WhatdoyoumeanbyAsthma?

TR 9 4 e € 2

850/K/109/4000 4

Roll No. ...occeere = . Total Pages : 4

GSM/D-22 850
HEALTH & PHYSICAL EDUCATION

Time allowed : 3 Hours] [Maximum Marks : 60

Note: Attempt five questions in all, selecting one question

from each unit. Question No. 9 is compulsory. All

questions carry equal marks.

T T W U WA 1 947 FI U, el Wi WAl
% ST ATl W99 TeA 9 aifad #1 9t uvl @ o
THM 2

UNIT-I (31E-1)

What do you mean by safety education ? Explain the
need & importance of safety education in field of

games & sports. 10
e e @ w0 oy ® 2 @9l $ 8 W g
Eﬁﬂﬁﬂﬁﬂ.ﬁmﬁﬂﬂﬂﬁmﬂ?ﬂ: ﬁ
What do you mean by dislocation of joints ? Discuss

the various types of dislocations of joints and their

prevention & treatment. 10

850/K/109/4000 _ PTO.



Srel & foreneH i & o =5 Q@ o afna d 2 9 E
fafiy= farral =1 a9 39 999 9 TR F1 9o
Ead)

UNIT-II ( 3h13-11 )

What do you mean by communicable diseases explain
the modes of transmission & prevention & control of

communicable diseases. 10
HhE TN G T AT © 2 GFEEE W b hed
% WEMm 99 999 9 A @ fGwngEs 9
Edicull

What do you mean by sinusitis 7 Discuss its types,

causes, symptoms & treatment in detail. 10
WEAIafEE | 319 797 9oe € 2 39 WK, HRO 9
ITER 1 faRgE® 90 FE |

UNIT-IIT ( 3aTE-111 )
Explain the main components of balance diet ? 10
HeffeTd STER % Y& el 1 90 I |
What do you mean by junk food ? Explain the harmful
effects of junk food ? 10

850/K/109/4000 2

Ve HE | F1 S € 7 5k HE W e yamE
&1 Ui HIfET |

UNIT-IV ( Z&hE-1V )

Write down the function of Heart & also explain the

effect of exercise on circulatory system. 10
TSI % 14l F THA gU A F T JAE S T
T 9Tt WHEl 1 a0 w1 |

Write down the note of following :

(a) Pulmonary circulation. 5
(b) Typeofcirculation. . 5
fFrefafes o e fod

() TS FEH T -
(@) T aE & UFH

Compulsory Question ( 31fard wed)

Attempt all question in short : 2x10=20
et gt weal % Se e o i
(a) What doyoumean by sprain?
figema 9 =1 sifaug 2 ?
850/K/109/4000 3 PT.O.
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GSM/D-22 851
MUSIC (VOCAL) THEORY
Paper—I
Time allowed : 3 Hours] [Maximum Marks : 40

Note: Attempt five questions in all, selecting at least one
question from each unit. All questions carry equal
marks.

mﬂﬂmﬂa@ﬂna@-ﬁﬂﬂﬁﬁﬁﬂuﬂmmﬁ
HA W G F I SN0 w4 S B S e
21

UNIT-I ( 3h1E-1)

1. Write the notation of a Vilambit-Khayal in any Raag
from yoursyllabus. 3

A UIgEEE § e o B faefe = 5
Taifety ferfa |

2. Give full description of Raag Jaijaiwanti or Raag
Gaud Sarang. 8

T SPESFEE! I1 I METRT 1 qvf =ret S

851/K/110/1000 P.T.O.



Write the notation of a Drut-Khayal or any Raag from
your syllabus. 8

ﬁwq@ﬁn@@%ﬁ#_%%.ﬂﬂﬂ%
fafaa |

Write Ada-Cha utal with Ekgun, Dugun and Chaugun
Layakaries with its description. 8

ST~ 1 TH, A T S e 7 =
Uity wfea fafgn |
UNIT-II ( 3TE-11 )

Write about the Dhruped and Thumri-Gayan
Shailies. 4+4

H9s W& gH-TA Yol & fawa § e fen v
I |

Explain the following : 4+4
(a) Awisbhav-Tisobhav
(b) JatiesofRagas.

F=fafes =t = #ifso
(%) snfaya-fagiam
(@) Wl =t sferEi]

851/K/110/1000 2

10.

Write the placement of Swaras on Shruti by Bharat
and Lochan. 4+4
T U w5 gfod W e & o
i |

UNIT-III ( 3eTE-IIT )

Describe the role of Science in promoting educational
and cultural aspects of music during Modern
Period. 8

snyfer T o i 9 St ud w5
foram =61 sfteht &1 =i i |

Write the contribution towards music by Ustad Bade
Gulam Ali Khan. 8

IR 98 [ e @l F GG S B 9 aEE
fafau |

Write the contribution towards music by Pandit

Malikarjun Mansoor. 8

Y. Hfeet=hRIsT WeE 1 Siitiaes 4meE fafe |

851/K/110/1000 3
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GSM/D-22 852
MUSIC INSTRUMENTAL
Paper-1. (Theory)
time Allowed - 3 Hours) [Maximum Marks : 0

Note  : Aucempt five questions in all, selecting at least one
yuestion from each Unit. All questions carry equal
marks.

YA THE @ﬂ-@rﬂﬂﬂﬂuﬂﬂﬂ_
ﬂﬂwﬁ ﬂmﬂﬂi%mﬂ&@m_ﬁ&ﬂﬂ

F 3F A B
UNIT-I (3eTé-1)
I. Write down the Raja Khani and Maseet Khani Gat of Raga
Jaijaiwanti with two toras. 44

ﬁﬂﬂiﬂﬁ@&m%&ﬂ&%%
fafan)

2. Historical study and detailed description of the Wmmmm

T w1 fqefes svm u§ faega faon

(a) Chayanat. (b) Jaijaiwanti.
B EeEpEnifl 4.4
3. Write one Madhyalaya Gat in any Raag of your syllabus
with two toras. 6.2

9 YgEET & fEd st W ¥ v vewew oS an
H fafaw

852/K/386/800 P. T.O.



=

Write down the detailed description of Taal Tivra with

-their Theka, Dugun, Tigun and Chaugun. 8

mﬁ%ﬂﬁﬁqﬂaﬂmﬁmﬂﬂmﬂﬂwﬂmﬁ,m_ﬁ
#R I fafew)

UNIT-1I (g=mE-11)
Write short notes on the following : 4,4
frefafas = wfm feomft fifan
(a) Alpatva-Bahutva. (b) Gram.
AeTa-agaal| b1

Write down the method of tunning of your instrument and
description of the instrument. 8

AT aE 1 fawmgds fam 33 qu w9 e w1 fafs
™ U Wy =)
What do you mean by Swayambhu Naad? 8
A AR W A9 wueR 82

UNIT-IIT ( Z&TE-111 )

Write down any one incredible contribution towards
Musician by the following. 8

fFefafen 4 @ fodi & wimg & 9 & 85 o
AT AEA W YEE S
(a) Ustad Abdul Haleem Jafar Khan.

IR S T SR @

852/K/386/800 2

(b) Pt Pannalal Ghosh

9. 9T =)

9. Detailed Description of the following instruments :

frefafen a=ai =1 gof faaor e .

(a) Guitar,

frem)

852/K/386/800

e

(b) Santoor.

HAT

4.4
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GSM/D-22 860
OFFICE MANAGEMENT

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. All questions carry
equal marks,

FA A W ® IW A IH wvd @ aiw
TE )
I Explain different types of Companies.

Eﬁﬂmﬂm%ﬁw&ﬁﬂﬁ:%ﬂ

2. Explain the power and duties of Company Secretary.

T w@EE & AuFER R wwel w1 e sitm .

=

3. As a Secretary of Educational Society, how you, will P
execute the proceedings of Governing body meeting ?

a@ﬂﬁaﬂ%ﬁﬁ.@m%ﬁthﬁ%@ﬂﬂﬂﬂﬂ
W T=F F owHEEE F fEatew 6D

4. Difference between Public and Private Company. How
a Public Company can be transferred into Private

Company ?

860/K/468/50 PaT-0:;



TEeE @R fet wE @ A9 o uw adetE
HTA H e wE A wE ToEEfE e ST ogs
27

How Company Secretary is appointed ? Explain
the essential qualification for becoming Company

Secretary.
®91 wiea # g $8 #1 a 22 F gt aw
% fou smEvas Gram w smen it

Difference between Equity share and Preference share.
Explain the essential conditions for issue of shares at
Premium and at discount.

G - T S
R R T2 W W wR B AEYEE O E e
Hife)

Discuss the doctrine of “Lifting the Corporate veil” and
give exceptions to it,

"FORE YR R ® fag W = #ify dk we
AYER  Eieul _

What is the difference between Transfer of Shares and
Transmission of Shares ? Describe the procedure of
Transmission of shares. .
I F B A VAN @ YR § o o 22 v
F WU W WhE @ v it

860/K/468/50 2

9.  Write short notes on the following :
frefafen W wiww feafml foafa:
(a) Share Certificate. (b) Blank Transfers.
Y GHA| @Ml T
10. Explain the role of Company Secretary as regards to transfer
of Shares.
YA F T % Hay H #qAt |fgd & g9 w5
T it
"
860/K/468/50 3



D

(a)

()

If the radius of spherical curvature is constant,
prove that the curve lies on a sphere or has a
constant curvature. 3
Find the equations of tangent plane and normal
to the surface 2xz® — 3xy — 4x— 7= 0 at the point
(1,-1,2). 2

869/K/118/1600 4

Roll No. .

Time allowed : 3 Hours]

............. Total Pages : 4
GSM/D-22 869
ADVANCED CALCULUS
Paper-BM-231

[Maximum Marks : 27

Note: Attempt five questions in all, selecting one question

from each unit. Question No. 1is compulsory.

Compulsory Question

1. (a) StatelIntermediate valuetheorem. 1
(b) Evaluate: . 2
Jim 222
x-b
(c) Define Principal normal and Bi-normal. 1
(d) Defineosculating plane. Al
(e) If z=5x*+2xy+4y°.
then verify: .Wm,“n = mlmu 2
dxdy &yox
UNIT-I
2. (a) Ifafunctionfiscontinuousatx=a, then |f]| is
also continuous at x = a. Is the converse true? If
not show by an example. 3
(b) Examine the validity of Lagrange’s Mean Value
theorem for the function f(x) = x"”in the interval
[-1,1]. 2
869/K/118/1600 P.T.O.



State and prove Darboux’s Theorem., 3

3.0 a)
(b) Show that: 2
1
T ex
e i Doz
-0+ .Hu 24
UNIT-II
4. (a) Show thatfollowing function:
e (x, ¥) # (0, 0)
..r__m|+| b .ﬂ. L]
fiep= (=Y
0 (x, ) = (0, 0)
1s continuous at (0,0). 3
(b) IfUlx,y z)isa homogeneous function of order n
then ﬁnuqm.ﬂr at: 2
aly ol ol U
— +y—+z—=
g ox J dy - 0z 4 )
2. (a) Ifx*+y°—3axy=0,provethat: 3
dy 2a’xy
de (3 — ax)?
lgo, find the val H.%.wﬁr i i
also, Iind the value o &J...an e point M.mq :
(b) Expand tan” - in the neighbourhood of (1,1) by
x
Taylor's theorem as far as terms of second
degree. 2
BEO/K/118/1600 2

(b)

T ika)

(b)

(b)

UNIT-II1I
IfR* — R be a function such that both f, and f,are
differentiable at a point (a, b) of the domain,

thenf, (a,b)=f (a,b). 3
Let

x2+9) wm,ﬁru-.u___l ,x20

x

[y = -

—¥,x=0

9 J
Show that £,.(0,0) = f,.(0,0). 2

Find the volume of the largest rectangular
Parallelopiped that can be inseribed in the

ellipsoid : 3
2 B 2

— — . = ”_. L

a? b* ct :

Find the extreme values of the function x*+y*+2*
subject to the condition xy + yz + zx = 3a* using

Lagrange's method of multipliers, 2
UNIT-IV
Show that the curve
5 T L ) Vi
r=|t, Ewt , —— | liesin the plane. 3
5 t

The necessary and sufficient condition for the
curve to be a straight line is that the curvature
k=0at all points of the curve. 2

869/K/118/1600 3 P.T.O.
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GSN/D-22 870
PARTIAL DIFFERENTIAL EQUATIONS

Time Allowed : 3 Hours] [Maximum Marks : 26

Note :  Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory.

Compulsory Question
1. (a) Find the differential equations of all spheres of fixed

radius having centre in xy plane. 2

(b) Examine whether the partial differential equations
are compatible or not p=6x+3y, q=3x—4y. 1

(c) Solve the Partial differential equation

mw”.__N.|.% m\uuhuu.m @uN - n.wwN sy
_..w._u.nu _W.Fu&, ._mu.r.mu.qm m.yc_u 3

B2
Il

Ly
(8]

(d) Write one dimensional and two dimensional heat

equations. 1
UNIT-I

2, (a) Obtain a partial differential equation by eliminating

the arbitrary functions from z = nB-.u_.__Amx +by).
2V

8§70/K/404/1,600 . P.T.O.



(b)

?H Jﬁ? +Tm |NL¢ =7 Xy. 2
3. (a) Find .m.a Complete Integral of pxy+pg+qy=yz _ﬁ,
. using Charpit’s method. - 2%
(b) Find the complete integral of _ﬂT+wau gx’. 2%
UNIT-I1
4. @ Solve (D’-3DD?-2D%)z=cos(x+2y). 2%
(b) Solve ?unuuufuunwumm-.,_. oY,
5. (a) Solve _HDIU.LZDlU..ImvNHmEﬁx +3y). 2%
(b) Solve :
R muw+mx &'z +y? m“m+x|.mm+ mlnlc
I oxey R e ey o
2%
UNIT-III
’ LD 2 8z
6. (a) Classify and reduce the equation =i X % =0 to
Canoriical form. 2%
&z &z &%z
Classi d 42 =0 t
(b) Classify and reduce x = _wxmw+ v 0
Canonical- form and hence solve it. 2%
870/K7404/1,600 2 ..

Solve the equation :

7. (a) Classify and reduce the equation
3z &’z 8’z 8z oz

Mxﬂ+mmwmw+m%+mx.1u.mﬂlmmnc
to Canonical form. 2%
(b) Solve the equation by Monge’s method
r+(a+b)s+abt = xy, 2%
UNIT-IV

8. (a) For the partial differential equation determine whether
real characteristics exists or not 2. -

2 2 2
umrm%ww+m.wmnc, 3 2%

2
(b) Find the solution of the equation Pz .ﬁm subject

x> oy
s Q7
to the conditions N?,Eummﬂx and mﬂ_wucn COSX.
2%

o o 124
9. Solve the wave equation =—— with boundary
i ox* o o’ 2
conditions u=B;cosbt, B, is constant when x = a and
u= 0 when x = 0. 5

870/K/404/1,600 3
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GSM/D-22 871
STATICS
Paper-BM-233
Time Allowed : 3 Hours] [Maximum Marks : 27

MNote

(b)

(©)

Attempt five questions in all, selecting two questions
from each Unit. Question No. 1 is compulsory. -

Compulsory Question

A force of magnitude 24 N is inclined at an angle of
30° to the horizontal. Find its resolved parts in

horizontal and vertical directions. 2'a

al

A uniform cubical box of edge *a’ is placed on the
top of a fixed sphere, the centre of the face of the
cube bring in contact with the highest point of sphere.
What is the least radius of the sphere for which the

equilibrium will be stable? 2Ya

A force P when applied along the smooth inclined
plane supports a weight W, and when applied
horizontally balances a weight W, on the same plane.
Prove that .___.{_M - Ew =Pp2. 2

871/K/119/1,600 P.T. O.



2.

(a)

(b)

(b)

UNIT-I

AB and AC are two strings 9 m and 12 m long attached
to pegs B and C at a horizontal distance 15 m apart.

Find the tensions in the strings when a weight 10 kg
is suspended from A. 2

A B C D E F is a regular hexagon. Forces of magnitude
1, m,.h.._l_ 2,4.3,5N respectively act at one of the
angular points of the hexagon towards the five others
taken in order. Find the magnitude and direction of
the resultant forces. 2%

A uniform bar balances about a fulcrum placed ‘a’
inches from one end when a weight P is suspended
from it and about a fulerum placed ‘b’ inches from

the end when a weight Q is suspended from it. Show

Pa—Qb

5 and its

that the weight of the bar is equal to

2ab(P-Q)
Pa—Qb

length is equal to 2
Three forces proportional to the sides of a triangle,
act perpendicularly to these sides away from the
triangle. Prove that either they are in equilibrium or

they form a couple. 2'4

87T1/K/119/1,600 2

4.

87T1/K/119/1,600 3

(a)

(b)

(a)

UNIT-11

One end of a string of length 21 is attached to one end
A of a smooth uniform rod of length ‘2a’ and the
other end of the string is attached to a light string C
which slides on the rod. The string passes over a
smooth pulley O. Prove that in the position of
equilibrium, the inclination 8 of the rod to the

horizontal is given by a cos’ 0 =1/sin0. 2V

A beam of weight W is divided by its cantre of
gravity C into portions AC and BC of lengths ‘a’
and *b’ respectively. The-beam rests in a vertical
plane on a smooth floor Ad and against a smooth
vertical wall DB. A string is attached to a hook at
D and to the beam at a point P. If T be the tension
of the string and 0 and P be the inclinations of the

beam and string respectively to the horizon, show

T oy e oL 2%
(a-+b)sin(6-p)

Two weights resting on a rough inclined plane whose

>

inclination ‘o’ is greater then the angle of friction i
are connected by a string which passes over a smooth
peg on the plane. Show that the least possible ratio of

the less to greater is sin(o.—A):sin(a +24). 2

P.T.O.



(b)

(a)

(b)

. (@)

(b)

Find the vertical angle of the cone so that C.G. of its

curved surface and the plane base lies at the C.G. of
its volume. 2%

UNIT-III

An endless chain of weight W rests in the form of a
circular band round a smooth vertical cone which has
its vertex up words. Find the tension in the chain due
to its weight, assuming the vertical angle of the cone
is 2o 24

A rhombus ABCD is formed of four equal uniform
rods freely joined together and suspended from the
point A. It is kept in position by a light rod joining
the mid, points of BC and CD prove that if T be the
trust in this rod and W the weight of rhombus, then

q,u__&ﬁmum, 24

Three forces P, Q and R act along three
non-intersecting edges of a cube; find the central axis.
2%

A force P acts along x-axis and another force 3P
along generator of the cylinder x* +y? =a”. Show
that the central axis lies on the cylinder
9(3x —z)° +100y* =81a>. 2%

871/K/119/1,600 4

8.

(a)

(®)

(a)

(b)

UNIT-1V

Show that the wrench (X, Y, Z ; L, M, N) is equivalent
to two forces, one along the line x =y =% and other
along the line given by : 2V

Lx+My+Nz=0;
x(y-z)+y(z-x)+z(x-y)=L+M+N
and find magnitude of two forces.

A square lamina rests with its plane perpendicular to
a smooth wall, one corner being attached to a point
in the wall by a fine string of length equal to the side
of the square. Find. the position of equilibrium and
show that it is stable. 2%

Two forces P and Q are such that their central axis is
given in position and line of actionof P is given.
Show that the locus of the line of action of Q is
conicoid. 2%

A hemisphere rests in equilibrium on a sphere of
equal radius. Show that the equilibrium is unstable
when curved surface rests on the sphere and stable
when the flat surface of the hemisphere rests on
the sphere. 2%

871/K/119/1,600 S
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BHM/D-22 31724

LITERATURE IN ENGLISH (1750-1830)
Paper-V

Time : Three Hours] [Maximum Marks : 80

Note : Attempt all questions.

SECTION-A

1. Explain with reference to the context any three of the
following :
(a) For oft, when on my couch-I lie
In vacant or in pensive mood,
They flash upon that inward eye
Which is the bliss of solitude:
And then my heart with pleasure fills,
And dances with the daffodils.
OR
Will no one tell me what she sings?
Perhaps the plaintive numbers flow
For old, unhappy, far-off things,
And battles long ago:
Or is it some more humble lay,
Familiar matter of to-day?
Some natural sorrow, loss, or pain,
That has been, and may be again?
(b) Stll flutters there, the sole unquiet thing.
Methinks, its motion in this hush of nature

1 .
31724/500/KD/356 _.s.w\._. [P.T.O.



(c)

Gives it dim sympathies with me who live,
Making it a companionable form,
Whose puny flaps and freaks the idling Spirit
By its own moods interprets, every where
Echo or mirror seeking of itself,
And makes a toy of Thought.
OR
A grief without a pang, void, dark, and drear,
A stifled, drowsy, unimpassioned grief,
Which finds no natural outlet, no relief,
In word, or sigh, or tear-
Who hath not seen thee oft amid thy store?
Sometimes whoever seeks abroad may find
Thee sitting careless on a granary floor,
Thy hair soft-lifted by the winnowing wind;
Or on a half-reap'd furrow sound asleep,
Drows'd with the fume of poppies, while thy hook
Spares the next swath and all its twined flowers:
And sometimes like a gleaner thou dost keep
Steady thy laden head across a brook;
Or by a cyder-press, with patient look,
Thou watchest the last oozings hours by hours.
OR
I saw their starved lips in the gloam,
With horrid warning gaped wide,
And I awoke and found me here,
On the cold hill's side.
And this is why I sojourn here,
Alone and palely loitering,
Though the sedge is withered from the lake,
And no birds sing. (3x8=24)

31724/500/KD/356 2

SECTION-B

Attempt any fwo of the following questions :

2. Does Wordsworth emphasize commonplace subjects and a
reverence of Nature?

3. What is conviction of the poet in the poem about Nature?

4. Discuss To Autumn is one of the thematically rich oder of
English Literature. (2x16=32)

SECTION-C

5. What are the factors responsible for the growth and
development of the Novel during the eighteenth century?

OR
Write a detailed note on the Romantic essays and essayists.

6. Write a note on the Gothic and Oriental romances qr the
terror novelists of the eighteenth century. *
OR
Write a detailed note on the impact of Middle-ages on the
Romantic Poetry. (2x12=24)

31724/500/KD/356 3
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BHM/D-22 31725
LITERATURE IN ENGLISH (1750-1830)
Paper : VI
Time : Three Hours] [Maximum Marks : 80

Note : Attempt all questions.

1. Attempt all three short answer type questions in about 200
words each : (3x8= 24)

(a) Discuss the theme of marriage in Emma.
OR

Discuss the situation of English society on the basis of
Emma.

(b) In what way is the novel 'The Vicar of Wakefield' a
satire?
OR

Compare and contrast the characters of Sophia and
Olivia.

(c) Discuss the essay 'Poor relations'.
OR
What are Lamb's views on 'Imperfect Sympathies'?

31725/500/KD/574 wa u..ﬂ_u.._...u.




2. Attempt any two essay type questions : (2x16= 32) -
(a) Discuss the character of Emma,
(b) Write a detailed note on Charles Lamb as an essayist,

(¢) Comment on 'The Vicar of Wakefield' as a novel of
sensibility.

3. Attempt two questions : (2x12=24)
(a) What are the main features of Romanticism?
OR

Comment upon the transitional Poets and their
contribution.

(b) What were the reasons for the rise of the English novel
in the Eighteenth century?

OR

What are the major themes of the Eighteenth century
Novel?

31725/500/KD/574 2
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BHM/D-22 31726
GRAMMAR AND CONTEMPORARY ENGLISH USAGE
Paper-VII
Time : Three Hours] [Maximum Marks : 80

Note : Attempt all questions.

2.

Write an essay in about 450 words on any of the following
topics :

(i) A Stitch in Time Saves Nine.

(ii) My Favourite Author.

(i11) Future of Technology.

(iv) An Incident that changed My life.

(v) My Favourite Childhood Memory. (14)

Read the passage and answer the questions that follow :

A study of Marx and Lenin produced a powerful effect on
my mind and helped me see history and current affairs in

31726/500/KD/663 Q [P.T.O.



a new light. The long chain of history and social
development appeared to have some meaning, some
sequence, and the future lost some of its obscurity. The
practical achievements of the Soviet Union were also
tremendously impressive. Often I disliked or did not
understand some development there and it seemed to me to
be too closely concerned with the opportunism of the moment
or the power politics of the day. But despite all these
developments and possible distortions of the original passion
for human betterment, I had no doubt that the Scoviet
Revolution had advanced human society by a great lea »
and had lit a bright flame which could not be smothere”

and that it had laid the foundations for that new civilizatior

towards which the world could advance. I am too much of
an individualist and believer in personal freedom to like

much regimentation. Yet it seemed to me obvious that in a
complex social structure individual freedom had to be limited,
and perhaps the only way to read personal freedom was
through some such limitation in the social sphere. The lesser
liberties may often need limitation in the interest of the

larger freedom.

(i) Who influenced the narrator and how?

(i) How did Narrator's attitude change towards
Soviet Union?
(iii) How did the narrator view himself?
31726/500/KD/663 2

3.

(iv) Sum up the narrator's views on freedom and liberty?
(v) Give antonyms of "personal, advance”. (10)
Do as directed. Do any eight :

(i) My brother is ....ccoorveenicene Teacher. (article)

(ii) I met European in the market. (article)

(iii) ......cc....... Elephant is a very strong animal. (article)

_ (iv) We have only ...........ccoenrenno. Minutes to spare. (a little/

T 3

few/ or a few)

pe (v) Could you lend me ..o Books, (a little/ few/

w or a few)
v (vi) We will stay here for .................. While. (a little/ few/
or a few)
(vii) All the food ........................ been eaten. (have)
(viii) A pair of gloves ............. been found in the hall. (have)
(ix) A lot of these apples ............... bad. (have)
(x) These SCIiSSOTS .............. Sharpening. (need) (8)
4. Complete the following sentences by adding an infinitive or
an infinitive followed by other words. Do any eight :
(i) No-one heard them .........
(ii) We expect the repairs ...........
31726/500/KD/663 3 [P.T.O.



8+

(iii) The farmer would not let us .........

(iv) The bandit forced the travellers .........

(v) Wecould......... what he said. (hear)

(vi) I want a book that is easy ...........

(vii) The material is easy ...........

(viii) These shoes are comfortable ............

(ix) Our house is very pleasant ..........

(x) Her tale was pitiful ............... (8)

Rewrite the following sentences by using the introductory
word there. Do any eight :

(i) Two people were sitting at the next table to ours.
(ii) A seat happened to be vacant in the back row.

(iif) A policeman was standing at the entrance of the hall.
(iv) A time will come when you will _dm.unﬁ your folly.
(v) Something is wrong with this clock.

(vi) Sentries are posted all round the building.

{vi1) Three cars were involved in the accident.

(viii) Over a hundred people were present at the lecture.
(ix) A loud explosion occurred in the building.

(x) A pair of trousers was in the wardrobe. (8)

31726/500/KD/663 4

Do as directed. Do any eight :

(i) He is an early riser. He rises ...........

(i) The soldier fought ........(brave)

(iii) She received us in a ......... (kind) manner.
(iv) She was a very .......... (friend) person.

(v) He spoke ......... (loud)

{vi) He ran ........ (fast)

(vii) He was ....... (wrong) implicated in the case.
(viii) He played ....... (beautiful) in the match.

(ix) I pay the rent ............ (regular)

(x) He faced the situation................... (calm) (8)

Fill in the blanks with prepositions. Do any eight :

(i) He called me ..... Night. .
(ii) He is good ...... English.

(iii) He refused ....answer me.

(iv) 1 cannot think ...... his name,

(v) Divide this cake ...... all the students.

(vi) What are you looking ...... ?

(vii) .49._ should not interfere ....... my work.

(viii)He died ...... corona.

31726/500/KD/663 5 [P.T.O.



(ix) The lady was dressed .... Black.

(x) Flour is made ........wheat. ] 8

Fill in the blanks with correct form of verbs :
(i) My aunt ....... with us for a few weeks. (stay)

(ii) There are some birds that ...... Every year. (migrate)

(iii) My father ....... Niagra falls. (see)

(iv) We ..... To the theatre last evening. (go)

(v) It ............... (rain) since ten o'clock.

(vi) You will not succeed unless you ................ Harder.
(work)

(vil) When' I .....ccovvnerees enough money, I intend to buy
a car. (have)

(viii) I shall buy the hat that ................. cheapest. (be)

(ix) We cannot come to a decision before we ...... the
facts. (know)

(x) Do not do anything further until you ......... from
me. (hear) (8)

Rewrite the following sentences by inserting the words given
in the bracket. Do any eight :

(i) We walk to school. (always)

31726/500/KD/663 6

(ii) Our team has been beaten. (never)

(iii) The train has left. (just)

(iv) We should show respect to your elders. (always)
(v) A bally is a person of much courage. (seldom)
(vi) I saw such a sight. (never)

(vii) He robbed his parents. (even)

(viii) You can trust a person who is dishonest. (never)

(ix) Have you been to Paris? (ever)

(x) We spend the week-end in the country. (always) (8)

31726/500/KD/663 7



Roll No: ..o Total Pages : 7

BHM/D-22 31754
WESTERN POLITICAL THINKERS-I
Paper-I
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each unit. Question no. 9 is compulsory.

= ulﬂmﬂﬂﬂﬂﬂﬂﬂﬁﬂﬁﬁdwﬂﬁ%
IW df w5 S 9 sfEd 2

UNIT-I (3&18-1)
1. Critically examine Plato's concept of Ideal State. 16
wid % Yl 9 e F s g Fif
OR (219arn)
2. Critically review Aristotle's views on Slavery. 16
T W I B e # s adtan S
UNIT-II (§a-11)

3. Write a note on the political views of St. Augustine. 16
T AR & Yoo AR # wia st

31754/250/KD/272 / [P.T.O.
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OR (#Aga)

. Give reasons, why Machiavelli is called the child of his time.

16

HfFaEet # A g = RN = wE S 8, FEO
A

UNIT-III ( SemE-101 )

. Critically explain Hobbes Social Contract Theory of the

Origin of State. 16

T % T 1 SOfd % amfes OEe @ fagr w1
ATAETITS  SATE Hife)

OR (=9gar)

. Critically examine political ideas of Locke. 16

i & YoHlas faur &1 SAeaTes T i)

UNIT-1V (3&TE-1V )

. Critically review Bentham's Utilitarian Theory. 16

duq % IWEOEE faar F1 e g S

OR (&191)

31754/250/KD/272 2

. Critically review Mill's ideas of liberty. 16

fre ® @i gadt e ¥ e adten
Fifag)

Compulsory Question ( 31f7ard uyw)
(2x8=16)

. (i) What is the main theme of the Republic ?

(@) Communism of Wives
(b) Education

(c) Ideal State

(d) Justice.

fofes =1 g1 fawg sh-T &2
(=) 9feai &1 | .

(=) Term

(W) =Y o=

(z) =m

(ii) Which scholar first gave political science the status of
science?

(a) Socrates
(b) Aristotle
(c) Locke

(d) Hobbes.

31754/250/KD/272 3 [P.T.O.



(i)

(iv)

fore M A Fevem weHifa I w faEE @ g
fen?

(=) g%ua

() 1|

(") =%

(3) ==

Who wrote the book "Confessions” ?
(a) Saint Augustine

(b) Plato

(c) Aristotle

(d) Socrates.

‘wrg” TRE e e e
(37) 9 IR A

(F) =& A

(W) 3

(%) gF@ Al

In which country was Machiavelli born ?
(a) France

(b) England

(c) Italy

(d) Germany.

31754/250/KD/272 S

(v)

(vi)

Araeht =1 9= f5g 3 F gan A

(&) wig

(/) $eivs

(¥) w2t

(%) =t

Scientific Materialism was the basis of whose thinking ?
(a) Saint Augustine

(b) Hobbes

(c) Aristotle

(d) Socrates.

It dfFar fFes fim =1 smR an
(31) |9 TR

(%) #=5

(§) 0=

(%) HFUI

When was John Locke born ?
(a) 1683
(b) 1632
(c) 1704
(d) 1688.
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SR " Jom & TR R w1 T TEEE AR

() 1683 22

() 1632 (a1) T & faE

(®) 1704 (%) A =1 fagm

(T) 1688. (m) foen =1 faai@
(vii) Which of the following scholar considered property as (3) w =1 fazil

natural ?

(a) Socrates
(b) Aristotle
{c) Rousseau

(d) Hobbes.

Wﬂm.@mﬂanﬂw_ﬂﬂ?&u@aﬂﬂwu
(37) g

(%) e
(W) &
(%) ®f=m)
(viii) What is the most important contribution of Bentham's
Political Philosaphy ?
(a) Theory of Freedom
(b) Theory of Utilitarianism
(c) Theory of Education
(d) Theory of Religion.
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BHM/D-22 31755
INDIAN POLITICAL THINKERS-1
Paper-11
fime : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal
marks.

A : iﬂﬂﬂ&%uﬂ&?&a&ﬂ&% i a9 €

1. Raja Ram Mohan Roy was the founder of modemn India.
Explain this statement.

ﬂﬂﬁ&ﬂﬂﬁmﬂﬂuﬁm%sﬁﬁﬂﬂﬁ

2. Describe the religious and educational ideas of Swami
Dayanand Saraswati.

ﬁ%ﬂﬁi@%%gﬂaﬁaﬂ;
U W)

3. Explain Dadabhai Naoroji Drain theory.
e e T W@ W W PRt @ fag e
Hiforg|

4. Describe political ideas of Gopal Krishna Gokhale.
T FE e % A forearl W v S

31755/250/KD/586 ue [PTO.



|F-

5. Describe Swamji Vivekanad's contribution to Indian Thought.
@ fddR w1 e fie @ G 5y U FHifeg)

Describe the contribution of Aurobindo Ghosh to the Indian
National Movement.

T 9 =5y ﬂ%dﬂﬂﬁiﬁumﬁ_%ﬁﬂﬁﬂﬂ_
T F

Describe main features of Lala Lajpat Rai's democracy.
mﬂﬂgﬁﬂ@ﬂfﬁmﬁgﬂﬂﬁrﬂ_

Describe Political Ideas of Bal Gangadhar Tilak.
A TR foew ot e T YHI9 =)

9. (i) Who gave the Title of "Raja" to Ram Mohan Roy?
(@) Bahadur Shah Zafar
(b) British Emperor
(c) Akbar II
(d) Muhammad Shah Rangeela.

ﬁ_ﬂﬁu_ﬁﬂﬂ:d&:ﬂ%@iﬂm
F of?

(%) =eT e e 3
(@) fafenr wome 3
(M) sex fdg 3
(W) qe== W Gften

31755/250/KD/586 2

(ii)

(i)

(iv)

When was Swami Dayanand Saraswati born?
(a) In 1824
(b) In 1833
(c) In 1825
(d) In 1869.

Wt TR VOl 1 W w9 g 917
(F) 1824 |

(@) 1833 H

() 1825 H

() 1869 Hi

When Dada Bhai Naoroji was died?

(a) 2 October, 1917

(b) 16 April, 1916
(c) 30 June, 1917

(d) None of the above.

zE R e F9 g
(F) 2 IR, 1917

(@) 16 W@, 1916

(1) 30 M, 1917

(%) s § | = T

Whom did Gokhale accept as his guru?
(a) Swami Vivekananda

(b) Swami Dayanand

(¢) Dadabhai Naoroji

(d) Mahadev Govind Ranade.

- : 3 [P.T.O.



(v)

(vi)

et 3 R s & T o

(%) =t fadwm=

(@) =t =R

(M) = st

(9) wera Tifdz TR

In which year there is a split in the Congress?
(a) In 1905

(b) In 1906

(c) In 1907

(d) In 1908,

w9 F fFg o e vt o
(F) 1905 §
(&) 1906 |
(M) 1907 #
(=) 1908 H|

When was the conference of World's Religions held in
Chicago?

(a) In September, 1893

(b) In September, 1885

(c) In July, 1893

(d) In December, 1895.

Rt & fava o o Yoz # woien w1 s =9
T 917

(%) fom=m, 1893 &

(@) faamr, 1885 &

() eE, 1893 H

() e, 1895 )

31755/250/KD/586 4

(vii)

Aurobindo became a member of which institution while
living in England?

(a) Mitramela

(b) Majlis

(c) Innovative India

(d) Free India Society.

= §edve ¥ @ gu fem de B wem
(%) e

(@) w=ifem

(M) a9 9rg

(%) W sfea wramEd

Which Governor General declared the practice of
Sati in human?

(a) Lord Cornwallis

(b) Lord Canning

(c) Lord William Bentinck

(d) Lord Dalhousie.

e =R e T v @ e SR
feEan ar?

(%) @ Friafay

(@) =t B

(m e fafeam e

() wid sk
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(vii) MacMohan Border line is related to ........ Ry R e Total Pages : 6
(a) India-China |

(b) India-Pakistan _ @
(¢) India-Nepal BHM/D-22 3175

(d) India-Bhutan. INDIA'S FOREIGN POLICY
Paper-1I1
(&) w@-4H1 9 Time : Three Hours] [Maximum Marks : 80
(a) Sra-vifEwe 9 |
(9) SRE-A9E 9 | Note : Attempt five guestions in all. All questions carty equal
marks.
(%) WRA-92H e
- &N"ﬁm%ﬁ&%ﬂﬂ&ﬂeﬂ&i&mﬂﬂﬂm_
(viii) When was SAARC established?
(a) 1991 1. How history of a nation plays role in formation of its foreign
(b) 1987 policy? Explain it in Indian perspective. (16)
c) 1985 ;
”& s %ﬁgﬁﬁﬁg%ﬂ%mi
. %ﬂm&ﬂaﬁaﬁaﬁmmﬂ;ﬂ_%ﬁn_ 3
wF FE iy g3 a1
(&) 1991 .
2. Discuss the basic objectives of India's Foreign Policy. (16)
q :
Sl o F ok Afs B Hw FHE @ A HOT
(@) 1985
(%) 1983. | 3. Describe the major domestic determinants of India's
Foreign Policy. (16)
s B e A @ ge e @t w1 A
Hifsral ;
31756/250/KD/626 6
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Which were the dominant external factors that influenced
the formation of India's Foreign Policy at the time of
Independece? Explain it. (16)

Wl % 999 9RG S faew A w5 yofss 59 aw
YE 9 T $A-0 97 e F i)

Discuss the role of National Security Council in the making
of India’s Foreign Policy. (16)

w1 faswn Hifa Fein F iy gen ooy =t 9fm =
Foiq Fifem)

Write a note on the role of Indian Parliament in the making
of Foreign Policy. (16)

e w@ag w e Hify e F g w ™ s
fafam)

Analyse the problems and prespects of Confidence Building
Measures in India-Pakistan relations. (16)

Wa-viwE gaui ¥ favagdga @ee G wsm @i
et @ik graEe w1 favemy it

Critically examine the areas of conflict and cooperation
between India and China. (16)

e 3R ¥ & = gud ok wem & O % ameaeEs
Tete Fifea)

31756/250/KD/626 2

Objective type questions :
TS THR ® WA
(i) Who is Father of Political Science?

(a) Plato
(b) Aristotle
(¢) J.S.Mill
(d) Karl Marx.
Tt fram w1 fame S 27
(=) ==
(@) |
() sum. fim
(%) e wE
(ii) Who has given Gujral Doctrine?
(a) Manmohan Singh
(b) LK. Gujral
(¢) Narendra Modi
(d) Natwar Singh.
e o feea fan
(&) wHEa e
() FAEH. T
(|) = A
(%) e fom
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(iif) Who is the author of the book "The Making of India's (v) "Operation Vijay" is related to .......
Foreign Policy"? (a) India-China war
(a) M.S. Rajan. (b) India-Pak war

(b) H.J. Morganthu
{c) George Katlim
(d) J. Bandhopadhyay.

“&t AfFT T sfeae SR e F1 oEs w9 B

(c) Kargil war

(d) All the above.

(=) THTE T (1) 9E-9F1 IF
(7)) TS dREy (&) wrE-TfEEE 48
(|) =t Pefem (¥) =R 4%
(%) & =y (3) I T
(iv) Research and Analysis Wing was established in (vi) Recently India became the president of which
which year? Organization?
(a) 1970 (a) G-8 )
(b) 1969 . (b) G-7
(c) 1968 () G-20
(d) 1967. (d) G-77.
SR SR frveraw fasm wf fear w T 9 Y una R 9Te w1 arege T
(s1) 1970 ® @) s
(q) 1969 # & 0
(®) Emmm. i
(%) 1967 Hi e

31756/250/KD/626 4 31756/250/KD/626 5 [P.T.O.



7. Write a paragraph of about 200 words on amy one of the

given topics :

(i)  Sportsmanship

(ii) Environmental Pollution

(ili) Road Safety

(iv) Uses and Abuses of Mobile Phones.

L-961 ; 8

8

17.600

S —— g i . T e ——

_wﬂm : All questions are compulsory.
|
_
|

i

Ly [ e R R Total Pages : 08

GSQ/D-22 961
ENGLISH (Compulsory)

me : Three Hours] [Maximum Marks : 80

Explain one of the given extracts with reference to

confext: : 10

In the great heavens, Brahma. the self-created one was
lying on his serpent. when the sage Valmiki entered,
announced by the two doorkeepers. “Oh learned sire,
what brings you into this distant world 7 asked Brahma,
and offering the sage a seat beside him, fell at his feet.
‘Rise up, O God of Gods ! T have come to bring you
sinister news, Far down on the earth you chose as your
chief daughter Bharatha. the goddess of wisdem and well
being. You gdve her the sage-loved Himalayas on the
north and the seven sprging seas to the south. and you
gave her the.Ganges to meditate on, the Godavery to live

by, and the pure Cauvery o drink in’.

I7-961 P.T.O.



2.

{Ir

Moorthy said his Gayatri thrice a thousand and eight
times, and when the sanctum lights began o flicker he
spread out his upper cloth on the floor and laid himself
down. Sleep slowly came over him, and so deep was his
rest that people were already moving about in the streets
when he awokk. He rose quickly and hurried down to the
river and hurried back again and, seated by the central
pillar, began once more to meditate. People came and
people went; they banged the bell and touched the bull
and took the flowers, and still did Moorthy enter deeper
and decper into meditation; and it was only Waterfall
Venkamma who roused him with her loud laughter : ‘Ah,
the cat has begun to take to asceticism’, says she, only
to commit more Sins’. He, son! when did you begin to lie
to your u&mZH..Em ? As though it were not enough to
have polluted our village with your Pariahsi

Read the given passage carefully and answer the questions.
that follow : 5x2=140
And when, they had sat themselves down beneath the
hanging banyan roots beside the porch, men, women and

children, the bundles and baskets beside them, the maistri

went in. and came out with the sahib, a tall, fat man with

.m..uﬂ 2

(3-10/18)] -961

golden hair, and he had spectacles large as your palm,
and he looked this side at the men and that side at the
women, now at the arms of Pariah Chennayya and now
at the legs of Pariah Yiddavya, and he touched
Madhavanna’s son, Chenna. then but a brat of seven,
with the butt of his whip, and he laughed and he wanted
everyone to laugh with him, and when the child began to
cry, he looked at the child’s face and began to laugh at
him, but the child cried more and more, and the sahib
rose up suddenly and went in, and came out with a round
white peppermint and said he was not a bad man and that
evervbody would get a beating when they deserved one
and sweets when they worked well. “Tell them that—
repeat them that’, he said to the maistri who was standing
behind him and maistri repeated, “The Sahib says that if
you work well you will get sweets and if you work badly
you will get beaten—that is the law of the place.”
Questions :

(i)  Who is the Sahib referred to in these lines ?

(i) How did the Sahib look ?

(i11)) How did he touch Madhavanna’s son ?

(iv) What did he do when the child began to cry ?
(v) What is the law of the place ?

3 - RT.O.
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TN o,

3. Answer any five of the given questions in about 30 words (iii) Beautiful (iv) Thick

each : S*3=15 (v) Pleasure (vi) Freedom

i Who is th el - i)
(i) o is the narrator of the novel “Kanthapura® 7 (i) /Sitkeide (viii) Nation.

(i) What is the caste-based social hierarchy presented . : ! ' !
(b) Mark intonation (falling and rising tones) in any
in the novel ? d

five of the given sentences ; 5

(ni) What economics does Moorthy explain to .
(i) Listen to me, please.

Nanjamma ?
(iv) How do the courts and police behave in Seetharam’s (if) Oh God!
murder case ? - (i) Is it raining ?
(v)  What leads to Narsamma’s death ? (iv) This dress is good.
(vi) Who is Patel Range Gowda ? (v) Are you looking for something ?
(vii) What vision does Moorthy have about Gandhiji ? (vi) Pass me some sugar please. “
4. Answer any one of the following ..mu._mm:nﬁm in about (vii) What a fine weather!
300 words : 10 Or

Moorthy is the hero of the novel. Do you agree ? Give
your detailed opinion. i (s ‘Bh Canipiaies Oniy)

To have an axe ta grind, To beat about the bush, In cold blood,
To break the ice, To smell a rat, Capital punishment, To nip
in the bud, To be in one’s good books, A rainy day, To grease
the palm, An eye wash, Out of place, A big gun, Dark horse,

Or
Discuss ‘Kanthapura’ as an Indian novel.
5. (a) Transcribe any five of following words : 5

. Silent :
@ i ABsed cacties To face the music.
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6. (a)

(b)

[ &)

L-961

Fill in the blanks with appropriate transitional words/

phrases : ~
(EB I e, I was about to board, the bus started
thoving. (Just as/As soon as/Hardly)

(i) He started.............. . he heard the news.
(as long as/as soon as/so long as)
(ii1) He keeps wasting his time............. preparing for
examinations. (instead of/in spite of/despite)
av)" s R ['am very allergic to cold drinks. the
host offered me cold drinks.

(Until/Because/Even though)
(MW e her daughter, her mother-in-law was
injured in the accident. :
(Besides/Until/Though)
(vi) Wait for Sunita.......... .....5he comes back.
(when/until/if)

(vit) He is.......... ...0ld to walk. (so/very/too)

Transform any seven sentences as directed - 7

(i) Give me the book which is red.

(Convert it into a simple sentence)

(1) The murderer saw the police and ran away.

(Convert it into a simple sentence)

6

e —— e —

(c)

(iii) Besides being beautiful, the girl is clever.
(Convert it into a compound sentence)
(iv) Throwing off his shirt, he jumped into the
sea. (Convert it into a compound sentence)
(v)  We must eat or we cannot live.
(Convert it into a simple sentence)
(vi) The man promised to help me.
(Convert it into a complex sentence)
(vi1) I don’t understand this.
(Convert it into a complex sentence)
(viii) I saw a wounded ma.m_.
(Convert it into a complex sentence)
(1x) I cannot understand the reason of her failure.
(Convert it into a complex sentence)
(x) He went to Delhi and studied law.
(Convert it into a simple sentence)

Write short notes on the following : 5

(1)  Picaresque Novel or Psychological Novel.

Or

(i) Write brief notes on any fnwo of the following
items : : :
(1) Personification
@) Plot

(3) Onomatopoeia.
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t 2 A wgW g afEE ¥

(v) ‘Ht=dl’ e # Ued 9WEE FH o 7
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I Frofefen § @ fodl 2 vaid 9 Wt e R

g 2

(vii) ‘sew W ? wfaw "@we ® wEa o= oA
Fanq |
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(x) w9 FT oW wH = oafew 2
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7%2=14

(%) 29 € &0 | a8 7 € W | FE o Frfy #

TR WL AR T A owE R

9% g YEUS ¥ ¥W F fAemr €

AR FF qEvz sy fowm # o
nﬁumﬁﬁﬂmmﬁﬁﬁ

wifRd qe el "4

e #1 wmfes

TEH FSt 9 WM W

N TH

e T2 gC fedl w1 oWsE W |
(M) W @ Sifag € @, HN @

T TR fEEm—

3T @ & e gE ¢ ol F

w f@r 2 ® 4

IR Gell Bl W

e & faem
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3.

(%) B 99 HERR H agd TR
A e G 98l w1 a9
T4 3@ g H M AR FE
T TEH A TH A
IR uF foemm & fau = 2
Feeledl & JoE § Wwd
w4 98 39 AW W 9
el A
R Tt we fafaam @ |
e wREr F1 wfefas iy SifEg | 10

Agar
TER WEE & @il 9= 3 |

frefafan @ STiE W ¥ ¥ fEE WW Wl @ IW
T 150-150 vi=) ° T - 4x4=16

() ‘fFel T § feedt W FfE@ F IRWE W

Y9 Sl |
Gi) ‘19 @ @ v’ wfEW FOqE HEE ;T2
Gii) ‘@ IR sER AR SR @ wfum T
Hifog |

. (iv) '=wer wfam @ ueAw @ wfa 3w gem

2 ?

L-965 2

5

(v) ‘wfEr ® =mE ®§ wEm % W TR
g | .
(vi) ‘fafedl’ ®fam #t g@ <00 W TER ey |

TAERE F WEY W YN e g0 IEEr yaE W
1 faa=m wifsw | 10

HEET

wiEE e # UiEd 30 'Y, SEE "M wgihdl
H Ieoi@ wiew |

frafafas @9 3009 wwi § § R @ W § IW

T 150-150 ¥=R H e : 5x2=10

q) R gim we @ whiw ofEm o

(i) wifqarE! Sfem =+ 99 o4 WE FET |

(iii) MyfEF@ FAM WA B HEw IR
Higed St

(iv) "eER woR fed &1 e 9fE S |

frfafan o S909 9o °§ 8 & §f & SWm i
5x2=10
(i) 9 TEd ® |EY H WL HGC |
(i) HE F HY WE W gE, A A W TE:
=fee |
(i) weermd w1 wRamw R FEl W oweww wifey |
(iv) =AM % fau geaEd @ dEed-TE faen |
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GSQ/D-22 968
PUNJABI (ELECTIVE)

| Time : Three Hours] [Maximum Marks : 80
3 : Ad yEs wgdt Tsi

1. 35 fof adwt R9 fanr R @ s »3 miaz
$ ¥ w9 fs¥ 5

©® Fft w9 ssa o= #
() By edie

2. 3 fev ok 2o foF fan @ & yhor wfos
forrfimr @@ - s



<

4.

5.

(M) d3r ofr wmodh Rfs wdt @&
w o fedint feg wig @ wR
ueg U ot Ws a5 F wll
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GSQ/D-22 970
SANSKRIT (Elective)

Time : Three Hours] [Maximum Marks : 80
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GSQ/D-22 972
HISTORY
Option (i1)

Rise of Modern World

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulosry.
Attempt four more questions. selecting one question
from each Unit. For visually handicapped candidates,
the part relating to the explanatory note of Map Question
will carry full marks. L
&e uie T % W A R wem 1 #fad
: | oF =E ¥ W T g WN 9 T
i | e fauitE @ fau amfeE wEd 2 reTes
fropft @@t 9m ® G HE B |

Compulsory Question ( Zifard woT)

1. Choose the correct answer from Multiple Choice
Questions : 2%8=16
TgfaFed v § A gel Iet 9y
(1) . E:.n was the author of ‘Divine Comedy™ ?

(a) Petrarch (b) Dante
(¢) Abelare (d) Machiavelli

(3-10/8) L-972 P.T.0.



(i1)

(ii1)

L-972

.

LY

‘oA FRE I = e w4 2

() Yz (=) =M

(®) HEeR ; (3) Hmen

Who wrote the book ‘The Institute of the Christian
Religion™ ?

(a) John Calvin (b) Jwingly

(c) JohnWycliffe (d) John Huss

"TE uH % auRyE fagi' e TEE #
fF =i 2

(&) 97 =wifeq
(7)) 9 onfaas
Which was called the “New World® in ancient

(9) gl
(2) §° =H

colonial system ?

(a) America Continent

(b) India

(c) China

(d) Africa Continent

WA sufEfTE e § o R wm
W 9r ? S
(&) e =
(9) = (3) STHiw1 HER

(%) «Rd

i 2

(1iv). What is the significance of 1215 A.D. in England’s

(v)

political history ?

(a) Magna Carta

(b) Charles 1st hanged

(c) Declaration of Bill of Rights

(d) Glorious Revolution

Fie % oo sfed ¥ 1215 % # wr mew
2 ?

(&) TRl =1 we

() =ed W¥H HOwE

(9) foei &% W@ = =mwon

(%) TeEgl

With whom was Wittenberg related ?

(a) Martin Luther (b) John Wycliffe

(c) Pope (d) Henry VIIith
e feug Hafum a1 2

(%) =feq qex (F) w7 =EfFs
(®) g (%) #T0 em=y

(3-10/9) 1.-972 3 P.T.O.
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(vi)

(vii)

L-972

Odd man out ;

James Watt. Thomas Newcomen. Samuel Crompton,

Jethro Tull

(a) Jethro 1_,:_:

(b) James Watt

(c) Thomas Newcomen

(d) Samuel Crompton

FETE (A9E) HE HEC

Seq dfe, WiEE A, SEEE WS, WU g
(=) S

(@) S e

(@) ot

(%) T=AA FHA

In which country did the first industrial revolution

take place ?
(a) India
(b) France

(¢c) Belgium

(dy United States of America

4

i

Ta TEe SnEmE Fifa e W OH ' 7
(1) Wi

(%) Wi

(@) wfesEd

(z) HgE UG ST

(viii) Who invented the rail engine ?

(a) Newcomen (b) James Watt

(c) Henry Ford (d) George Stephenson

Yo oo @ arfawR fRed TR e 7

(=) =gHEA (F) 99 dic

(@) T W (%) WS TErHE
Unit I (3% 1)

2. What does Renaissance mean ? Explain its effects. 4,12
R @ = afama € wﬂ%ﬂiﬂ,ﬂaﬂ%f
3. Explain the establishment of the Protestant Church. 16
vz 99 @ T S S Hi |
Unit TI (378 11)

4. Explain the meaning of ancient colonialism, its nature
and reasons for its rise. 16
o TEEE E S, TEE YEh @ 35 @ FRO W
T =iy | .

(3-10/10)-972 5 P.T.O.



cantile

origin  and effects of Mer
? . 16

5. Describe the
Revolution..




(viii) Who wrote the book “Comparative Politics—A
Development Approach.”™ ?

(a) Lucian Pye
(b) David Easton
(¢) G A. Almond

(d) Ulam and Beer

‘qeTeTE  UeHI—U  fasmRie afesm’! THs
s feed faEl ?

(1) qfeaT e

(@) sfag &=

(9) = T M

(%) 39M 3 #R

L-974 6 6,900

ROl e . Total Pages : 06
GSQ/D-22 974
POLITICAL SCIENCE (Theory)
Opt. (i)

Comparative Politics

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any Five questions. All questions carry equal

marks.

frdl ofer 9wl ® I Afwe | W o9 @ dS

fa

qH € |

1. Define comparative ﬁﬁﬁmnw and discuss its scope.
R 11 £ M3 L O £ I R R R
1. 99 FHioQ | W

2. Discuss critically the modern approach to the study of
comparative politics.
TEREE T A @ e g @
Sl A F | |

3. Examine critically the input-output approach given by
David Easton.
2z fz7 20 3 T -t e A ST
faa=ar i |

(3-10/10)] 974 P.T.O.



What is Political Culture ? Discuss its various kinds.
TSt W 59 Fed € 2 9 fafae @ A
Fiaw |

Dmm.m_.nﬁ:mﬂm constitution and constitutionalism and

discuss the concept of constitutionalism in “developing

countries.

Hfeum R dfaurar § s Fifen a1 9EeEaE &5
fowrasiia 290 =1 @y W == FifEe | .

Define Constitutionalism and discuss the various features
and problems of Constitutionalism.

TiauaR & 9 Fifau 99 dEumEr #51 &b
foeuanetl eik sl &1 avl Ff | :
Discuss the various types and _u:un:_wﬁm of Legislature.

faurmvee & fafis won o F@ F1 avl ST |

Define. -Political Party. Discuss the functions and

importance of Political Parties.

Tl 3@ 1 9ftam afee | e 5ol ® i AR
HEw &1 aud Hieg |

L-974 2

Objective Type Questions :

agfaweda 99

(i) Who wrote the book “The Process of Government’ ?
(a) Graham Wallace (b) David Easton
(¢) Arthur Bentlay (d) Robet A. Dahal
" A Al TEAHe A EE @ oE® R 7
(=) ey A (7) 2oz F=A
() et dzd (%) a4 w TEA

(ii) Who used ‘Comparative Method in Political Science
for the first time ?

(a) Aristotle = (b) Laski

(c) Plato (d) Karl Marx

Terifa e ® R geeers Tefa’ @ 9ue 9n
v fea ? o

(a1) s ()T

(§) = (%) e HEH

(iii) “Constitutionalism is a complex system of providing

for orderly change.” Who said it ?
(a) Corry and Abraham

(b) Carl J. Freidrick

(¢) J. S. Rowseck

(d) Pennock and Smith

(3-10/12)1.-974 3 P.T.O.



(iv)

(v)

“diaymEr =Efem ufed w5 e wfears
sEee € 1" fEed wer ?

(%) F0 79 ey

() @@ W9 Hfew

(8) 3. wH TFEE

(%) fles w@ foy

Which one of the following is not a feature of
Western Constitutionalism ?

(a) Rule of Law
(b) Provision of Fundamental Rights
(c) Distribution of Powers

(d) Equal distribution of Property
SfeaHl Hiaumar w5 = 9 9w fava w6 2

() =T F A

(7) HfeF sfred 9 s
(%) wfwma #1 fasgem

() Tt #1 w9 famo
Plural executive is found in :

(a) Britain

(b) United States of America
(¢) Switzerland

(d) South Africa

Bl HETfAE U S i

(31) faa 4

(a) HgE T i " L
(1) fagRews ¥

() =fawm stwiw H
Theory of separation of Powers is related to :
(a) Laski (b) Monte=quieu

(¢) Garner . (d) Sabine
v guaRw &1 fogm e § 8 few gt
%2

(31) @ () Hi=w=g

(®) TR (%) T

Political cultural is :

(a) A part of State =

(b) A part of General Culture
(¢) Related to Political Parties
(d) None of the above

(HA) T & TH T

(9) WMWY HEpfd #1 TH G
(¥) Tofas @ § FEtAEd
(=) ﬂmﬂ 4 9 ¢ W&

G-10/3).-974 5 P.T.O.



8. What do you mean by extent of Poverty in India ?
Discuss the main causes of Poverty in India. 18
aRa § T F = QA e € 2 9Re § e
P WHE FROT FI (FEE FHi5g |

Unit 1V (3 V)
9. What are the causes of Green Revolution in Indian

Agriculture ? What are its achievements and failure 7 18
et Ff F TR wi @ O w0 E 2 TE suarer
AR eraweEd 1 8 ?

10. .Er_e” do you mean by Agricultural Productivity ? What

are causes of low productivity in Indian agriculture pd

How do you measure it ? 18

Y ST § A 7 gEEd € 2 ad FH d w5
SeEE ® FRO F E 2 S W AN A € 2

L-976 8 2.900

ROINO. «oovvrseessrerssesssnes Tota] _.um ges : 08
" GSQ/D-22 976
ECONOMICS
Opt. (i)

[ndian Economy

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. Nos. 1 and 2 are
compulsory. Attempt remaining three questions mn_nnmum.
one question each from any of the three Units out of
the four Units.

Fa WG WA F IW A | ¥ wem 1 3R 2
afrad € | =R e 4 @ e 9 s 9
TH-TF W g9 99 7 9 % IwW e |

1. Feudalism and sub-feudalism were prevalent. In some
cases there were as many as 50 intermediaries between
government and agriculture tenants. Around 75 per cent

of the total produce was taken from the tenants as taxes,
which in turn led to impoverishment of farmers. Focus
was not on new ways and bringing new technology in

agriculture. Many farmers lost their lives to famine.

(3-26/105L-976 | e



Britisher's brought about commercialization of agriculture.
It was hard for peasant communities, at large, to arrange
.wcom for themselves throughout the year, though they
were the real producer of the food. Measures to improve
agriculture were not Ho:ﬂm@ that could be all done, mn.._
of sudden, in _.EH rather these measures were brought
about throughout the journey of independence India.

In the light of this case answer the following questions : 16
(i) Define Feudalism and Sub-feudalism.

(1) What was the main reason for stagnation in

agriculture sector during British rule ?

(i) Give reasons behind low level of agriculture
production during British Rule.

(iv) What is commercialization of hmm_na_:ﬁ ?
HIER X IEHTER T 4 | w5 TEd § SER
dr W FvaEW F A= o 50 W @ 1 ww
IR T ST 75 Wiow FRaER ¥ 1 % w9 H e
W e, fme o frer =t afew awd O | wEa
TU T R Y § T v w0 WS 9 | sEe
H o Rl #t o welt T | i 3 B w5 e
. T

¥ 976 C 2

——

(3-26/1NL.-976 3

ﬁﬁaﬁgﬁmﬂﬂ%gﬂﬂﬂigﬂx
F T FE o, FEH d e B gty
wﬁnﬂ@_%mmﬁﬂﬂﬂ&wﬂiaﬂﬁq
mﬁmﬂgﬂﬁﬂﬁﬂwﬂ&mﬂﬁﬁﬁsﬂ&
Y A B e e e g
ﬁrﬂ@%ﬁ&ﬂmwﬂﬂﬂmﬁ%mﬂ%ﬂm“
(i) ﬂﬂﬂ%ﬁéﬁﬂﬂ%ﬁ@m%ﬁﬁ
(i) Wi Wer % R P &% F wem o e
IO FM g ?
(iii) wﬁgﬂﬁﬁa%%ﬂﬁﬂﬂﬂ
FRU FARY |
(v) FM #1 =EEEEw w7 2 2
(@ Choose the correct alternative : Sx1=5

ﬂﬂw@ﬁﬂﬂﬂn—ﬂ_ﬂ.ﬂ

(i)  Which of the following is a reason of poverty
in India ?
(1) Low rate of growth
(2) Inadequacy of Capital
(3) Inflation
(4) All of the above

P.T.O.



L-976

(if)

frefefas § | @ W@ A OTET #
o % 2

(1) foFm =1 ™\

@) Tt F A

(3) HAEHIE

@) 3w wd

Indian Economy is which type of Economy ?
(1) Capitalist .

(2) Socialist' Economy

. (3) Mixed Economy

(iil)

(4) None of Above

G seerEe fFE WER H Sderae
g ? |

(1) Yo

(2) THEERE! ST

(3) fakm erdeaen

4) W@ § ¥ ®E T

What proportion of India's population is
engaged in agriculture ?

(1) 51 per cent (2) 71 per cent
(3) 61 per cent (4) 41 per cent

4

(iv)

)

(326121 -976

ARG H HEA B fRaT | FH A e
g ? 2

(1) 51 wfaem () 71 wfaee

(3) 61 ﬂaﬂm (4) 41 wfayE

The number of people who are able to work

and willing to work at prevailing wage rate is

known as :

(1) Labour Force (2) Labour Supply
(3) Workforce (4) Participation rate
wafem wRd W W FH FE F gaH R
FH FH H TogE oM H oHEwm W =
B9 A WA W@ €

(1) 59 == (2) 79 3
(3) FdEw (4) 9rfERl =X

Unemployment leads to which of the

following ?

(1) Loss of Manpower

(3) Decline in Capital Formation
(3) Loss of Output

(4) All of the above

5 P.T.O.



Unit I 375 1)
e frefafas 9 @ st @ o s 3.  What do you mean by Developing Economy ? What are
4 9 major issues of Development in India ? 18
(1) SFofF #1 w1 3 FFRRIE S § avw oo 2w &

Fw % g @ o § 2

(2) g5t e # 4. Compare the Indian Economy with Developed

(3) IUE”A & T Economies. 18
(4) IF | Eﬂ@mﬂnﬂﬁ%ﬂﬁmﬂaﬂﬁﬂmﬁﬂmﬂﬂ

i |

o it 5%1=5 4
(b) Match the following : Unit 1T (35T 1) |
(i)  Unemployed LT 71975 5. What is Overpopulation ? Discuss its causes and' suggest
Person measure to solve the problem of overpopulation inIndia. 18
_ sifuF e ? 59 FRON F faa= wifm

(i) Green Revolution 2. 2006 s " i
T A HE e WS # w3 <uy

(iii) NABARD 3. 1982 qART |
(iv) RRB's 4. 1965 6. Discuss the demographic characteristics of Population in
B Mkeia S 1} bl Forco India. : | 18
paitifigation ﬁﬁmg%ﬂzﬁﬂamﬁﬁ%ﬂm&%_

Unit III (35678 11I)
frefafan =1 faiem Fifsw -

. 7. What do you mean by Unemployment ? Explain the main
(i) TR =Afw L 975 . _r characteristics of unemployment in developed and
i) eRa i 7. 2006 | underdeveloped economies, Suggest a suitable employment
s _ generation policy for India. 18
(iii) AT : n iﬂ.@@%ﬁqﬂﬁwu@ﬂ&m%sﬂﬁﬁm
(iv) RRB's 4. 1965 _ Al § A 5 E fEvmast w5t sy
«) NREGA 5. g W SnEd . ﬂ@m_nﬁﬂgﬁ%gmﬂ%mﬂﬂ_

| G2WIIL-976 7 . PTO;
L-976 0



(2)

(h)

(1)

(i)

What is Scoliosis ?

wifasifag =1 2 2

Explain the causes of flat foot.

9% W % SR qOEU |

What do you mean by Cardiac Muscles ?

wa At 5 wed € 2

What do you mean by Plasma ?

TR " ST A GuE B 2 10x2=20

4 3,700

Roll No.2¢!032 56| Total Pages : 04

GSQ/D-22 - 983
HEALTH AND PHYSICAL EDUCATION
(Theory)

Time : Three Hours] [Maximum Marks : 60

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 9 is compulsory.
s THE W WH Y A gU, R Ui 9w @
SW G 1w den 9 sfEd ¥

 UnitI 38 1)
1. Define Growth and Development. Explain in detail the
various stages of Growth and Development. 10

e v fagm 1 wfonfya Fifse | oy @ fawm =t
fafe=1 sEeaml =1 wfwr avf it |

2. Differentiate between Growth and Development. Elucidate
the age and six differences in relation to Physical
Activities. 10
e @ fem 9 o wmwme | oog 9 fan a9 @
iR s @ Wy =1 vl Fifw |

(5-21/100] 983 PT.0.



Unit 11 (3% 1)

3. What are Extramurals Toumaments ? Explain general

principles related to organization of Extramurals. 10
T d § o ahE ) R @
AT &g WA & gl =1 9ol Fifs o

. What do you mean by league tournaments ? Prepare a

fixture of 9 teams using league cycling method. 10
s e T 2 oM R gw 9 A E
firsg=r dar SifeT |

Unit IT1 (313 1II)
What do you mean by Posture 7 Explain the importance
of Good Posture. 10

A | o A ® ? 3 A P TR W U
=iiag |

. Explain the postural deformities of legs in detail. 10

i & e dadt fasfedl =1 ofewr 9 st
Unit IV (355 1V)

. Explain the types of muscles and describe the effects of

exercises on muscular system in detail. 10
Higlet & R w1 9v wifae o omEm & e
TR W g 9 yeEl W fawga 9vi it

1983 2

8.

(5-2U1NL-983 3 P.T.O.

What do you mean by Blood ? Elaborate the functions of
Blood in human body. 10
W H AT A ¥ 2 TG W W W ® e
F1 GUH HiE | .
Compulsory Question ( 1@ 99)
(a) What do you mean by Infancy ?
v § Ao = A € 2
(b) Define Development.
fopm =1 wfoafim =ifsw |
(c) What do you mean by Organization ?
e ¥ v w AR 2
(d) What do you mean by Knockout Tournament ?
AweEz wide | a9 o ogmed ¥ 2
(¢) What are the types of Round Robin Tournament or
League ?
A e A e fe vEn @ e ¥ 2
() What is the method used to find the no. of teams
in Upper half and Lower half in knockout
tournament ?
Fwaee T § T ag ok fra g § I
Ft Hew e w5 T fafg § 2
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GSQ/D-22 984
MUSIC VOCAL
Paper : I
(Theory)
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one
question from each Unit. All questions carry equal
marks.

YF TER U 9 69 9 &9 W&E U 9T 80, S
Ui U & IO SfEC | O weEl % S §aF E |
Unit I G515 1)
1o Give detmiled dosbriiont’ of Rasg Pl SValEg with
Aaroh, Avroh and pakad.
w1 dmeerdt w1 g o aE, sl W 9w s
wfea fafag |
2. Write down the notation of any Slow Khayal prescribed
in your syllabus with two Alaps and two Taans.
I wigaEs | 4 el < faoifae = 6 wfafy 9
e AR 31 9@ afea fafaw )

(5-06/150 984 P.T.O.



3. Write down the notation of any Drut Khayal prescribed

in your syllabus with two Alaps and two Taans.
AR wEEEE ¥ 4 W g o 9 = @ e
@R < 97 wfed fafag |

¢ Write down the full description of Dadra Taal with Thah

Ekgun, Dugun, Tigun and Chaugun Layakaries.
JRU A H g e @ A, T, fiE a9
wasEl fea S

Unit I (32 1I)

. Write in detail about the origin and development of

Notation System and its merits.
@i vgfd %t 3af ok faem & ) 9 fasmgds
a9n sua Ui wfed == FifEw )

- Write the contribution of Acharya K.C.D. Brihaspati in

Indian Classical Music.

ot welt gl 4 arad S el @ A
% 9] ¥ fafag |

. Write in detail about Lalit Kala mein Sangeet ka Sthan.
wiferd e 9 Hia w1 A fava w fawmw 4 fafew |

L-934 2

8.

10.

Write the contribution of Lalmani Mishra in Indian
Classical Music.

qHE AT HhE A S iy $ d9EE B AR d
fafean |

Unit ITI (3573 11I)
Write in detail about Time Theory of Ragas.
i F g9 fogim & an § faww 4 fafen )
Write an essay on teaching of music through Gharana

System.
AT WU % e @ gt foen W ww e fafe )

(5-06/16) -984 3 200
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GSQ/D-22 985
MUSIC (Instrumental)
Paper I (Theory)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one
question from each Unit. All questions carry equal
marks.

Y% TR Y FH W FH GE W 9T g, | Ui
i B IW e | w oW @ 5 omEm

Unit I (3T I)

1. Write the notation of Maseetkhani Gat of any of Raag
from your syllabus with its Aaroh, Avroh and Pakar and
four Toras. 8

A URTEH A ¥ R s W @ wEart T oW
R, 0T, THg I AR AL W e fatEy |
2. Write the notation of Razakhani Gat of Raag Todi with
its full description and Aaroh, Avroh, Pakar and four
Toras. 8

W g # wrEEt W ow gl fawer wf| q ems,
IAUE, THS T AR e F IFHT ferEw |

(3-47/1) 1.-985 P.T.O.



. Write the comparative study of the following Ragas : 4+4

(a) Mian Ki Malhar

(b) Basant.
%iﬁmﬂﬂﬂﬁﬂﬂ@@ﬁ”
(a1) Tl &t 9o

(F) =97 |

Unit II (3573 11)

. Write in detail the origin and development of Notation

System. 8
TR WA F I wE fawm w w9 fafaw |

. Write the origin and development of Indian Orchestra. 8§

R g #t Sdfa U@ few fafau |

. Write the detailed description of Raag Puriyva Dhanashree

with its comparative study. 8
T gfa v F g e wfen fawm faa
fafan |

Unit ITI (312 11T)

. Write the Thah, Dugun, Tigun, Chaugun of Taal Dhamar

and Jhaptaal with detail description. 4+4

A9 ¥AR SR wOAE S 9%, 3, foE, S w few
o fafaw |

L-985 2

8.

10.

Write the contribution of the following : 4+4
(a) Nikhil Banerjee

(b) Mushtak Ali Khan.

frafafaa =1 9 fafan .

(1) ffEm ==

(q) 7Hwa= I @ |

Write the role Music in International Cultural

Exchange. 8
s wrefE ARE-EE ¥ i w1 g e |
Write the notation of Raag Mian Ki Malhar (Razakhani
Gat) with Aaroh, Avroh Pakar and four Toras. 8

T ol # AR (W ) 1 ane, s TEE
T IR el ¥ %A fafan |

(3-47/2) L-985 3 650
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GSQ/D-22 992
OFFICE MANAGEMENT |
Financial Accounting

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any Five questions. All questions carry equal
marks.
i utw Yl ® Iw 4o | w9t W & S
oA 7 |

1. What is Accounting ? Explain its characteristics and
importance. 16
a1 ¢ 2 TEE faumael @ Wew W OSE
SIS |

-~

2. What is the need of accounting concepts ? Explain any
four important accounting concepts. 16
SrarE SEuREl w1 F aEvEEa ¢ 2 Rl Ww
TEEU WEEd SEYRE % S Fg |

3. ‘Every debit must have a corresponding credit.” Discuss.
Also explain the different types of accounts. 16
‘v Bfae WY U B §F EvEE ¢ | aHERy |
fafir= voR % @m 1 sred s Hie |

(2-06/17)1.-992 P.T.O.



Explain the need and advantages of ledger. What are the
rules of posting in the ledger ? 16
WAMEE! &1 AEvIHa T el S = TR | wraeE
H =il w9 % ¥ faw § 2

What are the different types of errors in trial balance 7
Explain with suitable examples the errors not disclosed
by trial balance. 16
e # afedl # fafe= weR = § 2 semw ofw
3 Ifeal =l wueme 5 99 wEe TE F |

Write short notes on the following : 4x4=16
(a) Capital Expenditure

(b) Revenue Expenditure

(c) Capital Receipts

(d) Revenue Receipts.

Frafafen = wfia feoforat @ﬂmﬂ

(31) YSirm =g

(9) 9@ =9

(7)) Yo wiftast

(%) T wieaEr |

Prepare a Bank Reconciliation Statement from the

following particulars as on 31st July, 2020 when Pass

Book shows a debit (overdraft) balance of ¥ 2.500 : 16

(1)  Cheques issued but not presented for payment
T 2,000.

L-992 2

(i) Cheques issued but omitted to be recorded in Cash
Book ¥ 1,000.

(iif) Cheques deposited but not collected Z 500.

(iv) Interest on overdraft in pass book T 100.

(v) A cheque of ¥ 500 debited in the cash book but
omitted to be banked.

(vi) Bank charges in pass book ¥ 50.

¥d W g% T 2,500 F1 e (aAfufamd) vm frm w2

o frafafes faemol 3 31 s@d, 2020 %1 ¥ wove

faamo ar Fifsm .

() 2000 % =% fyifim few T v gER @
L 5 A

(i) T 1,000 = 9% frifm fFw g 99 = o

- faEm @ o

(i) T 500 % ¥F TN FEH Wy THHA T W

(ivy T 9% ¥ sfufasd w == 7 100 |

(v) TF T500 &1 9% Uwe =21 § @ 99 = fem
™ W d% W W s q@ T

(vi) 79 g% H &% ¥OUW ¥ 50 |

On 1st July, 2020 X sold goods to Y for ¥ 5.000 and
drew on him a bill of exchange for this amount due afier
three months. On due date Y expressed his inability 1o

meet the bill and asked X to accept ¥ 2.000 in cash and

(2-06/18) [-992 3 P.T.O.



draw a new bill for the balance along with interest at
15% per annum for three months. X agreed to this and
renewed the bill. On the due date the bill was met.

Give necessary journal entries in the books of both the |

parties. 16

| S@E, 2020 W X 7Y F 5,000 F W w9 AW

I W IH AW F AW 9E w1 = fafg ow faen 1 23
faifa W Y 3 fag & syom § v swmmda o s |

X #F 22,000 7% H & AU 9w 15% @fts = 9
=re dfed ¥ AW &1 96 9w F1 faw foed # fau
FE X 7 IHe fou a9 =iwa 2 4 ek fam =
FaAE 7 | 37 fafy w faw =1 yem fm omn o
TE UMl F O qEwl ¥ sEvEE U wiatedr
wHitea |

Prepare final accounts from the following trial balance and

adjustments for the year ending 31st March, 2021 : 16
Trial Balance Dr. ) Cr. ()
Capital 2,50,000
Building 3,00,000
Furniture 66,400
Return Inward and Outward 23,000 16,000
Stock (1-4-2020) 80.000

Purchases and Sales 3,38,000 5.60.400

L-992 4

(2-06/19) L-992 5

Bad Debts 3,000

Carriage Inward 7.000

General Expenses 12,000

Bad Debts Provision 7,000

Bank Loan 50,000

Interest on Bank Loan 3,000

Commission 9,000

Insurance and Taxes um,_”_mn._

Salaries 77,000

Cash in Hand 13,000

Debtors and creditors 30,000 = 80,000
9,72.400 9.,72,400

-

Adjustments :

(i) Closing Stock on 31st March, 2021 was valued at
T 43,400,

(i) Commission include ¥ 3,000 being commission
received in advance.

(iii) Salaries have been paid for 11 months.

(iv) Bank loan has been taken at 10% per annum interest.

(v) Depreciate building by 5% and furniture by 10%.

(vi) Write off ¥ 5,000 as further Bad Debts. 16

B.T.O.



Frefafas oz o soremEd 2 3 e, 2021 F T
B 9 9% % fou st e (Final Accounts) 9w -

e | R) W (R)
Isft 2,50,000
CEE] 3,00,000
TR 66,400
HaRF 9 «w A 23,000 16,000
i (1-4-2020) 80,000
%9 W fawa 338,000 5,60.400
g q H= 3.000
dqEa®: M ey 7,000
TH= 12.000
0 EU HERH 7,000
Ce e . 50,000
IF TN W =N 3,000
FHYA 9,000
a9 us & 20,000
A 77,000
RN 13,000
FW/R T 6N 30,000  80.000

9,72,400 9,72.400

1-992 6

10.

AT

(D) 31 79,2021 # st wRE #o9ew T 43.400

(i) =9 F ¥ 3,000 #fim W FHvE 3 wfm §

(i) & 11 WH = gEE fFw o $

(iv) 9% | 10% % =9 W fom T 2

(V) W87 W 5% A EHAR R 10% B (depreiation)
T |

(vi) 5000 @@ =W & IR efafEn wifw |

What is the importance of Computer in Accounting. 16
TEFT R F A e % 7

(2-06/20) -992 7 100
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GSQ/D-22 1006
GROUPS AND RINGS
BM-352
Mathematics
(For B.A. Candidates)
Time : Three Hours] [Maximum Marks : 26

Note : Attempt Five questions in all, selecting one question
from each Section. Q. No. 1 is compulsory.

(Compulsory Question)
1. 44) Showthat G= {1,-1,4 I.h.w. is a group with respect
to multiplication. 2
(b) State Lagrange’s theorem. 3 1
£ Find the inverse of (1 2 3 4). : 1
(d) If ‘a’ is the generator of a cyclic group, then prove
that a! is also its generator. 1
() Define Euclidean Ring. 1

Unit I

2 \m& Prove that the group (G, .) is abelian iff
@R =a?*VabeG 2%
\m.uu If H and K are two subgroups of a group G then
HK is a subgroup of G iff HK = KH. 2%

(3-16/1) L-1006 P.T.O.



3. (@

®)

4. (a)

(b)
5. (@

(b)

6. (a)

®)

L-1006

Every finite group of prime order is cyclic. Prove
it. 2%
Prove that a subgroup H of a group G is normal iff
each left coset of H in G is a right coset of H
in G 2%

Unit IT
The necessary and sufficient condition for a
homomorphism f to be one-one is that kernel
(/) = {e} where ¢ is the identity of domain. 2%
If O(Aut (G)) > 1 then show that 0G) > 2. 2%

Let Z(G) be the centre of a group G If G|Z is
cyclic then prove that G is abelian. 2%

Decompose the following permutations into product
of transpositions : 2%

LML 3SR gy
® 41875263

L2504 5 607 8.9
@19 8 7123 4.6 5)

Unit II
Prove that a ring R in which x2 = x V x € R must
be commutative. 2%

mraiawmngmngﬁ&nmmmﬁuamﬁ
subring is not same.- . 2%

2

- (b)

(®)

®)

IfR is a comutative ring and @ € R be an element,
then show that : 2%
Ra = {ra | r € R} is an ideal of R

Prove that every homomorphic image of a ring R is

isomorphic to some quotient ring.  ° 2%
Unit IV
Prove that every field is a Euclidean ring. 2%
Find all the units of Z [-5]. 2
Prove that every principal ideal domain is a unique
factorization domain. 2%
Show that the polynomial x* + 1 is irreducible
over (). 2%

(-16/2) L-1006 3 1,550



8. (a)

(®)

9, (a)

(b)

L-1007

Section IV

6 1
Evaluate ‘-. -dx by Trapezoidal rule. 2

¢ l+x

Calculate an approximate value of haﬂuu&. by
Simpson’s rule, using 11 ordinates. Also find errors.

P
Solve the differential equation m =-x°, y=2 at
x=0 by modified Euler’s method and obtain y at
x = 0.2 in two steps of 0.1 each. 2

Apply Runge-Kutta fourth order method to find an
approximate value of y, when x = 0.2, given that

@Hn,&.w and y = 1, when x = 0. 2

dx

4 1,550

Roll No. Total Pages : 04
GSQ/D-22 1007
MATHEMATICS
Paper : 353

Numerical Analysis (For B.A. Candidates)

Time : Three Hours] [Maximum Marks : 20

Note : Attempt Five questions in all, selecting one question
from each Section. Q. No. 1 is compulsory. All questions
carry equal marks.

(Compulsory Question)

1. (a) State Newton's forward interpolation formula. 1

8 -6 2
(b) Find cigen values of matrix A=|-6 7. —4}.1

g 3
. . 3 : .
(¢) Define Simpson’s 3 rule of integration. 1
(d) Prove that V=AE™". 1
Section I
2. (a) Given the following : 2
x f®
1 1
2 8
(5-1U7) L-1007 PT.0.



3 27 \ Section IT
4 64 4. (a) Using Sterling formula find Yoy Eiven :
3 125 Y =49225, 3, =48316, y, = 47236,
6 216 Yis =45926, 5, =44306. 2
7 343 - .
2 s (b) Apply Bassel’s formula to obtain y,., given :
=2854, y,,=3162, y,=3544, y_=3992 2
Find the value of f£(7.5). = o e
- = 2 5. (a) Find the probabilit distribution of a number of
(b) mﬁnﬂﬁgg?ﬂﬁ?vﬁu?g @ _.Hc / :
; - ; EgﬂEﬁéEﬂﬁnmm&ﬁaﬁﬁmE
e ) is defined as a number greater than 4. 2
x /@ (®) Two cards are drawn without replacement from «
E - well shuffled pock of 52 cards. Find the mean and
“ =0 standard deviation for the number of aces. 2
3 68
Section ITI
4 112 - -
- 466 6. Given the values of an empirical function f(x) for certain
9 99 values of x, find f7(93) : 4
3. @@ EEE&HE.“E?EE“ x | 60 [ 75 | 9 [105 [ 120
4y =12, —03(u, |fTP~?¢|FL- 2 f(x)| 282 [ 382432 [ 400 377
(b) Eﬁmﬂﬁg.mﬁga:@ﬂﬁ 7. :nﬁ?gﬂﬁ&&pmams_ﬁﬂ_%aiﬁea?
Eﬁgmﬁﬁnﬁnunﬂgn 2 e
x 0 1 2 corresponding eigen vector of the matrix A=|1 2 cg.
f(x)] o 1 0 003
S 0 [ oo 4

L-1007 z G-118) L-1007 3 PTO.
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Gsa/b-22 1037
MATHEMATICS
BM-351
Real Analysis (For B.Sc. Candidates)
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Section. Q. No. 1 is compulsory. All questions

carry equal marks.
(Compulsory Question)
1. (a) State Darboux’s thedrem. 2
dx

(b) Examine the convergence of ._.H 2
1

-

(¢) Define semi-metric space and give an mxms._m._m. 2
(d) Define complete metric space and give an example.
2
Section I
2. (a) Show that nﬂa@. bounded monotonic function is
integrable function. - 4
(b) Show that f(x)=2x? is integrable on [a, b] and

(5-11/3) L-1037 . PT.0.



¥ B —a . (b) Prove that in a metric space, every open sphere is
_. fx)de=——, 4 -
a 3 an open sel. 4
: iz 7. State and prove Baire's Category Theorem. 8
3. (a) Using definition. evaluate ._ cos xdvx - 4
0 Section IV
(b) If fis integrable on [a, b] and F is the primitive of 8. (a) Show that f:[0,1]=|R such that f(x)=x* is
] = ®
fon [a. b], then prove that _. fdx=F(b)-F(a)-4 uniformly continuous. 4 :
o g . (b) Let f:(X,d)—(Y.d*). Then fis continuous iff
Section I f(A)cf(A) forall AcX. 4
!
4. (a) Show that ._. o ?I ...,.ul dx exists iff m. n>0.4 9. (a) Prove that closed subset of a compact metric space
¢ is compact. 4
: - d i : : )
() Téstitie convergence of T:.;.- A 4 (b) Prove that continuous image of a compact metric
o space is compact. : 4
o= o | %
5. (2) Evaluate [n = g, where a>0. 4 v
5 HT +x V . . -

(b) Using Frullani’s integral, evaluate :

Siky &
< a

lmlm .
._.||H.rl dx=lo p a>0, b>0. n
1]

Section IH .
6. (a) Let (X, d)be a metric space and let 4* be such that
d*(x, y)=min{l. d(x, y)} . Show that 4* is a

metric on X. 4

L-1037 . (5-11/4) L-1037 3 . 3300



Attempt short notes on any two of the following selecting at

least one from each text :

(i) Explain Yeats's symbolism in 'The Lake Isle of
Innisfree?'

(i) Comment on the importance of the opening scene in
Saint Joan.

(ili) Show your acquaintance with Shavian wit. (2x7=14)

Discuss Yeats's transition from romantic poetry to that of

modern with particular reference to the prescribed poems.
OR

Evaluate Yeats's use of symbolism with special reference to

the prescribed poems. (15)

Examine critically the character of Joan in Saint Joan.
OR
Justify the title of the play Saint Joan. (15)

31757/400/KD/383 4

Roll:No. s Total Pages : 4

BHQ/D-22 31757

MODERN BRITISH LITERATURE-I
Paper-XI

Time : Three Hours) [Maximum Marks : 80

Note : All questions are compulsory.

1. Explain with reference to the context :
(@) All men live in suffering,

I know as few can know,
Whether they take the upper road
Or stay content on the low,
Rower bent in his row-boat
Or weaver bent at his loom, .
Horseman erect upon horseback
Or child hid in the womb.
Daybreak and a candle-end.
That some stream of lightning
From the old man in the skies
Can burn out that suffering
No right-taught man denies.
But a coarse old man am I,
I choose the second-best,
I forget it all a while
Upon a woman's breast.’
Daybreak and a candle-end.

31757/400/KD/383 d)ﬂﬁ._..ﬂ_



(b)

OR
Where the wave of moonlight glosses
The dim gray sands with light,
Far off by furthest Rosses
We foot it all the night,
Weaving olden dances
Mingling hands and mingling glances
Till the moon has taken flight;
To and fro we leap
And chase the frothy bubbles,
While the world is full of troubles
And anxious in its sleep.
Come away, O human child!
To the waters and the wild
With a faery, hand in hand,

For the world's more full of weeping than you can
understand.

I will never take a husband. A man in Toul took an
action against me for breach of promise: but I never
promised him. I am a soldier: 1 do not want to be
thought of as a woman. T will not dress as a woman.
I do not care for the things women care for. They
dream of lovers, and of money. T dream of leading a
charge, and of placing the big guns. You soldiers do
not know how to use the big guns: you think you can
win battles with a great noise and smoke.

31757/400/KD/383 2

OR
If I am not so glib with the name of God as you are,
it is because I interpret His will with the authority of
the Church and of my sacred office. When you first
came you respected it, and would not have dared to
speak as you are now speaking. You came clothed
with the virtue of humility; and because God blessed
your enterprises accordingly, you have stained yourself
with the sin of pride. The old Greek tragedy is rising
among us. It is the chastisement of hubris. (2x6=12)

2. Attempt any six questions of the following :

(1) How does W.B. Yeats capture the sights and sounds of
‘The Lake Isle of Innisfree?'

(i) Comment on the use of supernatural elements in 'The
Stolen Child.'

P,

(iif) Why is the poet so much worried about the future .E..
his newborn daughter in 'A Prayer for my Daughter?'

(iv) Bring out the theme of the poem 'The Wise Old Wicked
Man.'

(v) Comment on the relevance of epilogue in Saint Joan.
(vi) Draw a short character-sketch of Cauchon.
(vii) Describe Joan as a proponent of feminism.

(viii) Discuss Joan as an able military commander.
(6x4=24)

31757/400/KD/383 3 [PT.O.
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BHQ/D-22 31758
INDIAN WRITING IN ENGLISH-I
Paper-XII
Time : Three Hours) [Maximum Marks : 80

Note : Attempt all questions.

1. Explain with reference to the context :
(a) There is a place to which I often go
Not by planning to, but by a flow
Away from all existence, to a cold
Lucidity, whose will is uncontrolled.
Here, the mills of God are never slow.
OR
And there the women slowly turn around,
Not only flesh and bone but myths of light
With darkness at the core, and sense is found
By poets lost in crooked, restless flight,
The deaf can hear, the blind recover sight.
(b) Home? And what shall I say when I get there? What

shall I say happened?
And who'll believe me? They'll all say the two fought
and died for this whore.

31758/400/KD/382 4¥9 PTO.



2.

3.

OR

Of all the human limbs the topmost-in position as
well as in importance — is the head. I have Devadatta's
head and it follows that I am Devadatta. According to
the Sacred Texts.

(2x6=12)
Write brief notes on any six of the following :
(a) Why is the imperfect Lord Ganesha worshipped at the
beginning in Havavadana?
(b) How does Girish Karnad handle myth in Hayavadana?
(c) Analyse briefly the role of Padmini in Hayavadana.

(d) How does goddess Kali see through Padmini's cunning
in placing wrong heads on bodies? Discuss.

(e) Comment on Ezekiel's preoccupation with abstractions
in the light of the poem "Philosophy".

(f) Attempt a brief note on the poem "Poet, Lover,
Birdwatcher". .

(g) Trace the central idea of "Poem of the Separation”.

(h) Comment on the ending of the poem "Enterprise”.
(6x4=24)

Attempt short notes on any fwo of the following :
(a) Use of masks in Hayavadana?
(b) Role of dolls in Hayavadana.

(c) Imagery in Ezekiel's poetry. (2x7=14)

31758/400/KD/382 2

4,

Discuss in detail the Indian elements in Nissim Ezekiel's
poetry,

OR
In what way is the poem "Poet, Lover, Birdwatcher"
concerned with the process of writing poetry? Elaborate.

(15)

5. How far is Hayavadana a suitable title for Karnad's play?
OR

Girish Karnad's Hayavadana undertakes search for

perfection in an imperfect world. Comment. (15)
31758/400/KD/382 3



UNIT-II

(c) Comment on repetition in "Tonight I Can Write Saddest
Lines."
(d) Comment on the title of "A far Cry from Africa.”

UNIT-III

(e) How the voice of women has been suppressed? Answer
on the basis of your reading of the essay.

(f) How does The Waste Land represents "high modernism
"according to Eliot? (4x5=20)

What are the features that are common between modernism

and post modernism?
OR

Do you think feminism have made any change to the status
of women? Discuss in detail.

"We have been trying all along to place values where they
belong"remarks Ngugi in his conclusion of the essay. What

values does he uphold?
OR

Do you think Macaulay's remarks on Indian culture to be
deplorable? Explain.

Attempt a critical apppeciation of "A Journey to the Interior."

OR
Discuss "The End of the beginning" as war poem.
(3x10=30)
31759/400/KD/384 4

Time : Three Hours)

31759/400/KD/384

Roll 'No.. ........ 000 Total Pages : 4
BHQ/D-22 31759
ENGLISH
(Modern .E_GHE. Literature—I)
Paper—XIII

[Maximum Marks : 80

Note : Attempt all questions.

Read the passage below and answer the questions that follow.
Do any three :
(a) Again brutish necessity wipes its hand

Upon the napkin of dirty cause, again

A waste of our compassion, as with Spain,

The gorilla wrestles with superman.

(i) Name the poem and the poet.

(ii) Explain the phrase "waste of our compassion”.

(iii) "What do you understand by "brutish necessity?"

(iv) What do you understand by "The gorilla wrestles

with superman?”

(v) Use compassion in a sentence of your own.
(b) There are similarities

I notice: That the hills

Which the eyes make flat as wall, welded

Together, open as I move

To let me through; become

Endless as prairies; that the tress

Grow spindly, have their roots

Often in swamps, that this is a poor county.

95 [PTO.
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B

(i) Name the poem and the poet.

(i) Explain the phrase "welded together."

(iif) Why does poet call the area "poor country?”
(iv) Comment on the images in the lines.

(v) Use spindly in a sentence of your own.

(c) An undertaking in some postmodernist writings is to

subvert the foundations of our accepted modes of
thought and experience so as to reveal the
'meaninglessness' of existence and the underlying
'abyss' or 'void' or 'nothingness' on which any
supposed security is conceived to be precariously

(d) Now that the term Commonwealth Literature has finally

fallen into academic disfavor, one can see that its
biggest problem indeed was the pre-supposition that

an umbrella cord tied all these diverse bodies of writing-
from Australia, Canada, India, Nigeria, Kenya, Trinidad,
Jamaica, Barbados and the rest- to the mother country

England, which absent centre set to evaluative norms.

Absent because England was never seen as part of this

package. Post-colonial literature is presumably free of
such centralist undertones, it suggests de-centring,

plurality, hybridity, a dismantling of authority- hence

in many ways it is an enabling and protean term.

suspended. Postmodernism in literature and arts has

parallels with the movement known as poststructuralism () Name the essay and the writer.

in linguistic and literary theory; poststructuralists (ii) Why the term Commonwealth Literature has
undertake to subvert the foundations of language in fallen into disfavor?

order to show that its seeming meaningfulness (iii) Why does the writer call England the mother
dissipates, for a rigorous inquirer into play of conflicting country?

indeterminacies, or else to show that all forms of
cultural discourse are manifestations of ideology, of
the relations and constructions of powers, in

(iv) What does post-colonial literature suggest?

(v) Use "diverse" in a sentence of your own.

contemporary society. (3x10=30)
(i) Name the essay and the writer.
(i) Explain the phrase subvert the foundations of 2. Attempt any four questions by selecting at least one question
our accepted modes of thought and experience.” from each unit.
(ili) What is the relation between discourse and UNIT-1
ideology? (a) How, according to Macaulay, has Russia developed?

(iv) 'What does poststructuralist do with the language?
(v) Use conflict in a sentence of your own.

(b) Why does Mukherjee calls the term Commonwealth
Literature a pedagogic convenience"? Discuss.

31759/400/KD/384 2 31759/400/KD/384 3 [P.T.O.
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™ BHQ/D-22 31788
(@) ¥ |
COMPARATIVE POLITICS
(m T
Paper-I
(%) SgF T i
(viii) Single Party System is found in which country ? Time : Three Hours] [Maximum Marks : 80
(a) India _
Note : Attempt any five questions. All questions carry equal
(b) USA
marks.
(¢) China .
@ England ez ;. B ot W @ IW A ot W # o wem #
fFg W 4 T T wEen w8 1. Describe the features and importance of comparative politics.
() 9d

TS ot w1 favman @ W w1 9viA S
(@) 97 T4

(m ¥\ 2. Describe the comparative method and discuss its features -
(%) TEvE| and problems of the comparative method.

TS TS # RN Fif $iR gEees 9sft #
favm @R wEEEEd ®1 avA w

3. Discuss the importance and features of David Easton's System
approach.

e fon @ =aew s w1 favEm @R Wew =
FofF Fifaw)
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. Evaluate Lucian Pye's approach to political development.

T T & T faem gt w1 e Fihm

. What do you mean by Constitution? Describe the

fundamental characteristics of a good Constitution.

TR ¥ A w1 A 87 =2 oavm F1 dfew
favrmma =1 "o +{)

. Discuss the features and elements of constitutionalism.

Hayrar #t favva wy @ w5 e s

. Describe the function of Legislature in a Modern State.

ayfs T H faurved # wEl w1 oaviR S

. What do you mean by political party? What are the functions

of a political party?
ToHifow 79 ¥ A9 = oaead 8?7 ueeife T| #
fafa= =@l 51 9viq wifm)

. Objective Types Questions :

g AHeTH W

(i) Who is the father of Comparative Politics?
(a) Plato
(b) Aristotle
(c) Mahatma Gandhi
(d) Machiavell.

31788/200/KD/278 2

(if)

(iii)

o et W faer e 82

(%) =t

(|) e1s

() e e

(%) Hearaei

Who is the author of the book 'The Political System' ?
(a) Hobbes

(b) David Easton

(c) Rousseau

(d) Aristotle.

‘The Political System' T&/F % o@F FH 27
(%) wleg

(@) 2fas f=A

(m) w4

(%) swH

Fragmented Political culture is in which country?
(a)  France

(b) Italy

(c) India

(d) All the above.

31788/200/KD/278 3 [P.T.O.



(iv)

v)

dfea Tl g@pfa feg 3w o 2
(%) Wi

(@) 3=t

(M) «RE

(%) ST gt

In his structural Functional approach, Almond has
mainly divided the inputs into how many parts?

(a) 2

(b) 4

(c) 6

(d) 8.

Hwe 7 AT WIS WheaeE S # fae
F gEmm: fF ami F a2

(%) 2

(@) 4

(M) 6

(%) 8.

Which one is not the organ of the Government?
(a) Executive

(b) Political Parties

(c) Legislature

(d) Judiciary.

31788/200/KD/278 Bl

T ¥ FE-T TEHR F AT TE B2
(%) FrEufeE

(@) Torifas 3&

() fayries

(%) =mEgrernn

(vi) In which of the following countries is the executive
head are nominal?
(a) USA
(b) England
(c) Pakistan
(d) Sri Lanka.
e d & fFm 3w o sdfufas w1 ey AmEE
w1 82
(F) 937 T9 At
(@) ¥retoe
(m) wfeeE
(9) shwsn
(vii) Which country does not have a unicameral legislature?
(a) New Zealand
(b) China
(c) Iran
(d) USA.
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(viii) When did India adopt the Globalization?

(a) 1981 oIl NO. wooeeniciiissinnnnes Total Pages : 6
(b) 1991 _
€ 2001 BHQ/D-22 31789

(d) None of the above.

aE 3 dvdEor w1 wa ) %WZPﬂOZ}HWHWﬂ.HDZm (THEORY)
(=) 1981
() 1991
(|) 2001 lime : Three Hours] [Maximum Marks : 80
(7) W ® ¥ w6 =
L25=16) Note : Attempt any five questions. All questions carry equal
marks.
e ﬂq&ﬂﬂﬂamﬂ&wﬂﬁiﬂmﬁﬁmm_
1. Define International Relations. Examine its Scope and Utility.
(16)
s T ) oRafie S e fmE-am
IR F AEAET Hitag)
2. Describe the history of International Relations as an academic
discipline. (16)
w Nefe favg @ w9 § Siadem wad @ sfww
H A HHI
3. Critically examine the "Idealistic Approac " of International
Relations. (16)
S TE ® ‘o gfesm” & Ao
31789/200/KD/563 6 wfig =it
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Discuss Morton Kaplan's "System Approach" in International
Relations, (16)

ﬁﬂqﬁﬂﬂiwﬁ_ﬁagmﬂﬁmﬂmﬁqﬂmﬂﬁ
FEF" w1 oI F R

What is National Power? Discuss its various elements. (16)

aﬁﬂﬂ@mﬂﬁﬂﬂ?ﬁﬂﬁmﬁ%&

Define International Law. Discuss its nature and sources,

(16)
ARG FF &1 qfefag FIWU 9% 350 @ a6
F TR

Define Balance of Power. Describe various methods to
maintain it. (16)

%ﬂamﬂﬂiq@n@mﬂmﬁ*ﬂﬁﬂﬁaﬂ&
faf=s w5 =1 avfr =9

Evaluate the various efforts of world community to protect
the environment. (16)

ﬂﬂﬂﬁﬁﬂ@gwﬁﬁﬁﬂﬁaﬂnﬂmﬁﬂ
A H YR wife

Objective type questions : (Choose the right option)

TS T (W I oW owmm )

(i) “International Politics is a struggle for power." Who
said this?
(a) Woodrow Wilson

31789/200/KD/563 2

(i)

(iii)

31789/200/KD/563 3

(b) Morgenthau

(e) David Hull

(d) None of the above.

‘A Tt ufm # fw o ged 31 3
fFam wom #2

(7)) == faemw

(=) =rie

() 2oz Tew

() I 4 F =

Name the first chair of International Politics established
at Wales University.

(a) Woodrow Wilson Chair

(b) Peace Studies Chair

(c) International Politics Chair

(d) None of the above.

e fovafaaem § it s oot 5 g
48 %1 ™ =anu

(#) 780 faewa s

(F) wifa Fe=ggq dis

(7)) AR Wit e

(Z) I & § FE

Which approach of International Relations emphasizes
on study of "What should be"?

(a) Idealism

(b) Realism

(c) System Approach

(d) All the above,

[P.T.O.



(iv)

(v)

A ==l w1 wE-m gfes ‘e we
TfEe” # = W SR W 22

(&) HAREiER

(&) AYrRER

(}) =aFeq gfesm

(%) Sqi=m =i

Which element of National Power is losing its
Importance in Modern times?

(a) Military Preparedness

(b) Geography

(c) Technology

(d) None of the Above.

TS v F OFE-E a e Wy § S
oo™ @ W 27

(1) s T

(&)

(®) wFA® .

(3) SWem & | ®HE &

When the "Uniting for Peace" resolution was passed
by General Assembly?

(a) 1950
(b) 1951
(c) 1952

(d) None of the above..

‘wift & fou wEa" woE wEmW 4 w4 uiE
gam?

(#1) 1950

31789/200/KD/563 4

(7)) 1951
(¥) 1952
(T) I 4 ° FE A

(vi) The principle of "one for all and all for one" is associated

with ..............

(a) Collective Security
(b) Balance of Power
(c) International Law

(d)  All the above.

‘v ma F fom @R @@ wwm B fau"| 3 fogm
fFe @ wafam 22

(31) wfew e

(F) fF wged

() owisE wr

(%) 3w G

(vii) Which period of Balance of Power is called the "Golden

Period"? ~
(a) 1815-1914.

(b) 1914-1939.

(c)  1939-1945.

(d) None of the above.

fee =@ w1 ufR-dqem w1 "@i w@" W
Eicis ¥

() 1815-1914

(=) 1914-1939

(|) 1939-1945

(%) 39" 4 4 % 7@
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: BHQ/D-22 31790
ﬁ PUBLIC ADMINISTRATION-I
(Political Science)
Paper-III
[ime : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal

marks.

T" w ule w9 Sifew 99 9w # ofF §um

. Discuss the meaning, nature and scope of Public

ﬁ

Administration. 16
e w3, W a8 w1 9o Fif

Explain the growth and evolution of Public Administration

as an independent discipline. 5.

TF W AR & FY W @ SET % 95 W@
TEm =1 =rEn HifEg)

i  Write an essay on New Public Administration. 16

TEM @ goea W ey fafag

Discuss the relations between Public Administration and New
Public Administration. 16
TF WIET UE 74 e W $ T gE # g
1

790/200/KD/279 443(P.T.0.



|flll

. Critically examine the Scientific-Management theory of

organization. 16
T ® ‘ANt wEy faem’ # e eE =
mm.__ﬂ_m_

. Define Organization. Explain the classical theory of

organization. 16
UTeA ® sRufim #ifww 91 # e fizre 8
AT w I

«  Critically examine the principle of Hierarchy. 16

THIR % fag # e = wim)

. Discuss merits and demerits of decentralization. 16

far=imsm 2 T 3 2N w5 avin Fifm

. Objective Types Questions :

TS W :

() “Public Administration consists of all those operations
having for their purpose fulfillment or enforcement,”
Who said ?

(a) Woodrow Wilson
(b) L.D. White
(c) Simon

(d) Waldo.

31790/200/KD/279 2

(ii)

.iﬂuﬂaﬂ_mmgﬁﬂﬁ_ﬂﬂw@uﬁ%
e A # fe smE 5w s e
2" o ) wm

(30) T2 e

() T8 =Ee

(¥) HrERq

(3) ==

“When two men start rolling a stone in an organized

way, we have the beginning of administration,” who
said ?

(a) Simon

(b) Woodrow Wilson
(c) L.D. White

(d) None of the above.

:ﬂ&ﬂ_ﬂiw%aﬂﬁﬁﬁiﬁ
%ﬁiﬂﬁﬁaﬁaﬁu_ﬁﬂi
HEr?

(37) |TEHe

(F) 920 faoeq

(W) @l =Ez

() SRa ® 9 F:¢ T8
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(iii)y Who is known as founding father of Public

(iv)

Administration as a Discipline ?
(a) Kautilya

(b) L.D. White

(c) Luther Gullick

(d) Woodrow Wilson.

w a9 % ®9 ° @ WET & wEa e
T o #2

(%) wifeem

(@) W =Mwe

(%) g e

(%) =0 faem

Who wrote the Book ‘Arthshastra’ ?

(a) Adam Smith

(b) Simon

(¢) Kautilya

(d) None of the above.

"sereR" e w1 =W R w9
() Tz foy

(&) HrEwA

(W) #ifee™

(%) I & /A FE

31790/200/KD/279 -

(v)

“Administration like most of things, is in the final
analysis a human problem to deal with the human
beings and not with statics data,” who said ?

(a) Jawahar Lal Nehru
(b) Nigro and Nigro
(c) Elton Mayo

(d) Munro.

‘TR TET-H o el H WE SN AEEE T
? 9% T ¥ wam .t 7 fF aiwel /) W
s = ar?

() Vamt | AEE A

(@) o A 3

(v)

() Teeq 841 3
(%) g/ A

Modern state a called as :
(a) Police State

(b) Authoritarian State
(c) Dictatorial State

(d) Administrative State.

e T WA W #
() g ™= |
(%) gETTEE T 9
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(/) TAWTET = |/ bperes = B W § 3= W F AR WIEEE
(%) wrEfw =3 1 o9 = TO T TEd F SAEHO FHEl S

3w = oW
(vii) “Government may come and go, ministers may rise and
fall, the administration of a country goes on forever,” () T wa= A

who said ? (7) wE =2 A
(a) Ramsay Muir R
(b) Woodrow Wilson (¥)

(¢) Nigro and Nigro (3) S A
(d) M.P. Sharma.

‘Tl st aw o €, ohE w1 Seg @ T
B B R T 2 H A PR Tom wa
% fFe =@ 917

(1) T=mg A
() F=0 foema
(W) A w& A 3
(x) wd. ymi A
(vii))“The process of transfer of administrative authority

from a lower to a higher level of government is called
centralization,” who said ?

(a) Henry Fayol

(b) L.D. White

(c) Chariles Worth

(d) Johnson. (2x8=16)
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